CHEMISTRY

BOOKS - EVERGREEN CHEMISTRY (ENGLISH)

CHEMICAL BONDING

1. Pure HCl is a bad conductor of electricity. Explain.

o Watch Video Solution



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_3ZqpOJXBODDS

2. NaCl has a high melting point and boiling point as

compared to carbon tetrachloride.

° Watch Video Solution

3. Explain why carbon tetrachloride does not dissolve in

water.

o Watch Video Solution

4. Explain why a solution of cane sugar does not conduct
electricity where as a solution of sodium chloride is a

good conductor.
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https://dl.doubtnut.com/l/_uCvvINcJUunn
https://dl.doubtnut.com/l/_EIzTtazObGSw
https://dl.doubtnut.com/l/_HvJz6r2hVz7g
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5.Why H " ion is known as proton?

o Watch Video Solution

Worksheet 1 Fill In The Blanks With Suitable Words

1IN e symbols the electrons present are

represented with the help of dots.

o Watch Video Solution



https://dl.doubtnut.com/l/_HvJz6r2hVz7g
https://dl.doubtnut.com/l/_gTUpVmrHwghl
https://dl.doubtnut.com/l/_BP2O4NeNyS2y

2. A positive ion is formed by the ... of one or more

electrons.

° Watch Video Solution

3. The atoms of various elements combine to acquire a

state of ........... energy.

o Watch Video Solution

4. Helium is stabilised by the law of ........

o Watch Video Solution



https://dl.doubtnut.com/l/_Ln1sWC7mGr6b
https://dl.doubtnut.com/l/_Kp9Vt6pWBBVf
https://dl.doubtnut.com/l/_pmKQh8vDDJMP
https://dl.doubtnut.com/l/_xbkw16AvN4MW

5. The number of electrons lost or gained by an atom is

KNOWN as eeeeeeeeeennne )

o Watch Video Solution

6. Aluminium has a tendency to loose ... electrons.

o Watch Video Solution

7. Sodium and chloride ions are held together by strong

° Watch Video Solution



https://dl.doubtnut.com/l/_xbkw16AvN4MW
https://dl.doubtnut.com/l/_LoN41newLTCZ
https://dl.doubtnut.com/l/_FQq5396XJ84X

8. Cation and anion get stabilised by achieving ...

configuration.

° Watch Video Solution

9. Greater is the ... difference, stronger is the

bond formed.

o Watch Video Solution

10. ........ energy is released when oppositely charged ions

get packed to form one mole of an ionic solid.

° Watch Video Solution



https://dl.doubtnut.com/l/_sXk2HnXIF6IQ
https://dl.doubtnut.com/l/_ymSBEJ527n8a
https://dl.doubtnut.com/l/_J3kNwKKbiKc5

Worksheet 1 Answer The Following Questions

1. Why do ionic compounds possess high melting and

boiling points ?

o Watch Video Solution

2. Why are ionic compounds usually solids ?

° Watch Video Solution

3. lonic compounds are soluble in water and not in

alcohol. Explain.

o Watch Video Solution



https://dl.doubtnut.com/l/_GT5vWKU4ZLHj
https://dl.doubtnut.com/l/_F8rHUbsx6JMT
https://dl.doubtnut.com/l/_044iHMBlhByp

4. lonic compounds are good conductors of electricity.

Explain.

o Watch Video Solution

5. Why is sodium ion stable ?

o Watch Video Solution



https://dl.doubtnut.com/l/_044iHMBlhByp
https://dl.doubtnut.com/l/_IYGizbWQU8wT
https://dl.doubtnut.com/l/_49Gcr0WBNTwf

1. Complete the following electron dot diagrams:

e
Na- + O —=
T Chborne
LA AT

o Watch Video Solution

2. Complete the following electron dot diagrams:

Gl

m + A .ﬁ
Pl e 1 *;t'
— Cndnnne
i

o Watch Video Solution



https://dl.doubtnut.com/l/_vaxFTfrcZLOy
https://dl.doubtnut.com/l/_Zrq5VRqZbDb4
https://dl.doubtnut.com/l/_ty5uVgOKdWBB

3. Complete the following electron dot diagrams:

¢a + Q8 —
Cakut  Duger

o Watch Video Solution

4. Complete the following flow chart:

o Watch Video Solution

Worksheet 2 Fill In The Blanks With Appropriate Words


https://dl.doubtnut.com/l/_ty5uVgOKdWBB
https://dl.doubtnut.com/l/_9Nq0jAQTzAGC
https://dl.doubtnut.com/l/_XpmtPTsdMcRJ

1. Double covalent bond is formed by sharing

..................... electrons.

o Watch Video Solution

2. Nitrogen molecule contains a ..., bond.

o Watch Video Solution

3. Hydrogen molecule shares ... pair of electron.

o Watch Video Solution



https://dl.doubtnut.com/l/_XpmtPTsdMcRJ
https://dl.doubtnut.com/l/_iAq7Kt79vVuk
https://dl.doubtnut.com/l/_HfslFZxGEEOB

4. Carbon tetrachloride has got ............. single bonds.

o Watch Video Solution

5. Polarity of a molecule depends on its ...

difference.

o Watch Video Solution

6. Covalent compounds undergo .............. reactions.

o Watch Video Solution



https://dl.doubtnut.com/l/_w9rahfkVx3pl
https://dl.doubtnut.com/l/_oObdwrtGxQWH
https://dl.doubtnut.com/l/_mR2bR8DIvlR6

7. Covalent bonds are ... hence they show

isomerism.

° Watch Video Solution

8. Compounds which are covalent but develop ions in

solution are known as .................

o Watch Video Solution

O. oorrreerrirsnne molecules do not produce ions in solutions.

o Watch Video Solution



https://dl.doubtnut.com/l/_W7ZQxtnjUf02
https://dl.doubtnut.com/l/_yVu4PBJkQ92P
https://dl.doubtnut.com/l/_s9moZ3HA9LpM
https://dl.doubtnut.com/l/_8iBeoFwRhT9Y

10. Polar covalent compounds contain ...

separation.

o Watch Video Solution

1. Complete the following electron dot diagrams:

:0: + :0: —
Oxygen Oxygen
atom atom

° Watch Video Solution

2. Complete the following electron dot diagrams:

-C- + 4H- —
Carbon Hydrogen
atom atom


https://dl.doubtnut.com/l/_8iBeoFwRhT9Y
https://dl.doubtnut.com/l/_Y9rXB3qU5ccP
https://dl.doubtnut.com/l/_092nOqZ1oZT1

o Watch Video Solution

3. Complete the following electron dot diagrams:

.N- + 3-H —
Hydrogen

Nit 1:ogen
atom

atom

o Watch Video Solution

4. Explain the following:
HCl is a covalent compound still it conducts electricity in

its aqueous state.

o Watch Video Solution



https://dl.doubtnut.com/l/_092nOqZ1oZT1
https://dl.doubtnut.com/l/_NAnT8MlvsCpT
https://dl.doubtnut.com/l/_zv1L2CbYZ6UA

5. Explain the following:
Covalent compounds usually have low melting and

boiling points.

o Watch Video Solution

6. Explain the following:

Covalent compounds are insoluble in water.

° Watch Video Solution

7. Explain the following:

Methane is a non-conductor of electricity.

[ o Wiak~lh \NiAdAaA CAliikiAan



https://dl.doubtnut.com/l/_0Zyn0edXNWYl
https://dl.doubtnut.com/l/_QcV6GDifOgs6
https://dl.doubtnut.com/l/_MU7agcQXXV7Q
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8. Explain the following:

Ammonia is polar covalent molecule.

° Watch Video Solution

9. Give one example for the following:

A non-polar covalent compound —

o Watch Video Solution

10. Give one example for the following:

A polar covalent compound —

[ o


https://dl.doubtnut.com/l/_MU7agcQXXV7Q
https://dl.doubtnut.com/l/_sRLbQXFzSCKn
https://dl.doubtnut.com/l/_uCQEDIisg3rU
https://dl.doubtnut.com/l/_iT8SMs00BVnr

[ & Watch Video Solution

11. Give one example for the following:

Forces which exist between covalent compounds —

o Watch Video Solution

12. Give one example for the following:

A gas which possesses two double bonds —

o Watch Video Solution

Worksheet 3 Give One Word For The Following


https://dl.doubtnut.com/l/_iT8SMs00BVnr
https://dl.doubtnut.com/l/_q5mrjivbs63R
https://dl.doubtnut.com/l/_p0pgYEPf0Wjq

1. A pair of electron which is shared between two atoms

is known as__

° Watch Video Solution

2. A pair of electron which is not shared with another

atomis knownas

o Watch Video Solution

3. Positively charged hydrogen atom is known as

o Watch Video Solution



https://dl.doubtnut.com/l/_MiD63VCHGGiy
https://dl.doubtnut.com/l/_rWgNvogIt1rn
https://dl.doubtnut.com/l/_HjPuopihZ66X
https://dl.doubtnut.com/l/_B3giUweiCX5w

4. Number of lone pairs present in water.

° Watch Video Solution

5.lon formed when a proton is removed from water.

° Watch Video Solution

6. Process of decomposing a compound with the help of

electricity.

o Watch Video Solution

7. Gas containing tripple bond.



https://dl.doubtnut.com/l/_B3giUweiCX5w
https://dl.doubtnut.com/l/_ZPvF6vXYsSsN
https://dl.doubtnut.com/l/_mei4eXNV5AKZ
https://dl.doubtnut.com/l/_M56ZirCqqWAa

° Watch Video Solution

8. Gas containing double bond.

o Watch Video Solution

9. The ion formed when hydrogen loses one electron.

° Watch Video Solution

10. Compounds which do not allow electric current to

pass through them.

o Watch Video Solution



https://dl.doubtnut.com/l/_M56ZirCqqWAa
https://dl.doubtnut.com/l/_JU95gGPsdSwu
https://dl.doubtnut.com/l/_zqS3GTTw7J19
https://dl.doubtnut.com/l/_16qYtBKNn1qv

1. Complete the following electron dot diagrams :

H
H:N: + H'" —
H Proton
Ammonia

° Watch Video Solution

2. Complete the following electron dot diagrams :

H:O:H+ HY —

Wat er Proton

o Watch Video Solution



https://dl.doubtnut.com/l/_16qYtBKNn1qv
https://dl.doubtnut.com/l/_dJlzI3IV6E3D
https://dl.doubtnut.com/l/_8keKulAvpuV5

3. Complete the following electron dot diagrams :

H:O:H+ H —

Wat er Proton

o Watch Video Solution

4. Explain :

Cation has smaller size than neutral atom.

ooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooooo

o Watch Video Solution

5. Explain :

Anion has larger size than neutral atom.


https://dl.doubtnut.com/l/_mycmGflL2Mny
https://dl.doubtnut.com/l/_HUDobjSDAXWm
https://dl.doubtnut.com/l/_JoNAitdyhQQy

o Watch Video Solution

6. Explain:
Electrolysis can distinguish between covalent and ionic

compounds.

° Watch Video Solution

7. Explain:

Cation has a smaller size than parent atom.

o Watch Video Solution



https://dl.doubtnut.com/l/_JoNAitdyhQQy
https://dl.doubtnut.com/l/_sEIC0kzO73MB
https://dl.doubtnut.com/l/_lZsc68syGAN8

8. Complete the following flow chart related to the

structure of ammonium ion.

electrons to complete its octet and hydrogen needs

_________ electron to complete its duplet.

XX
P L] Fe=====" L
IH* + XINIX + = HI —s
________ +__=-_____-_'
Ix ]
[ |
I =1
(H]
[Nitrogen + 3 hydrogens) —_— (Ammonia)
H — 1l — [1
(Hydrogen| (1 electron) Proton)
+
+ [ ] _— H—Ili-—-oH
Proton H
Ammonia Ammonium ion
Ammonia possesses one pair of electrons and


https://dl.doubtnut.com/l/_cagVbTdxc8z0

electron is used in makinga  with proton. Such a

bond is knownas  bond.

° Watch Video Solution

Worksheet 3 Tick The Correct Answer

1. Hydrogen without any electron is :

A. Protium

B. Deuterium

C. Tritium

D. None of these

Answer:


https://dl.doubtnut.com/l/_cagVbTdxc8z0
https://dl.doubtnut.com/l/_P32RNUI2mPDm

o Watch Video Solution

2. A gas which contains double bond is :

A. Oxygen

B. Chlorine

C. Nitrogen

D. Phosphene

Answer:

° Watch Video Solution

3. Negative ions are known as


https://dl.doubtnut.com/l/_P32RNUI2mPDm
https://dl.doubtnut.com/l/_4tmBLKYa3BOM
https://dl.doubtnut.com/l/_wlEMf2ZbcvJZ

A. Cations

B. Anions

C. Fermions

D. None of these

Answer:

o Watch Video Solution

4. A compound having one lone pair of electrons :

A. Water

B. Methane

C. Ammonia


https://dl.doubtnut.com/l/_wlEMf2ZbcvJZ
https://dl.doubtnut.com/l/_x0MdNcRP9ODi

D. Carbon tetrachloride

Answer:

o Watch Video Solution

5. The most symmetrical structure is possessed by :

A. Water

B. Methane

C. Ammonia

D. Hydrogen sulphide

Answer:

[ o Watch Video Solution


https://dl.doubtnut.com/l/_x0MdNcRP9ODi
https://dl.doubtnut.com/l/_JqHDBI220qf7

Additional Questions For Practice

1. An atom X has 2, 8,7 electrons in its shells. It combines
with Y having 1 electron in its outermost shell.

What type of bond will be formed between X and Y ?

° Watch Video Solution

2. An atom X has 2,8,7 electrons in its shells. It combines
with Y having 1 electron in its outermost shell.

Write the formula of the compound formed.

o Watch Video Solution



https://dl.doubtnut.com/l/_JqHDBI220qf7
https://dl.doubtnut.com/l/_dOCFE3fCejx9
https://dl.doubtnut.com/l/_dlAbXV27HvNx

3. An atom X has 2, 8,7 electrons in its shells. It combines
with Y having 1 electron in its outermost shell.

Would it be soluble in water?

o Watch Video Solution

4.The electronic configuration of chloride ion is the same
as that of an argon atom. What is the difference between

the two ?

o Watch Video Solution

5. In the formation of the compound XY5, an atom X

gives one electron to each Y atom. What is the nature of


https://dl.doubtnut.com/l/_V2WbvOqJoPbq
https://dl.doubtnut.com/l/_wjC8oS7RWEcQ
https://dl.doubtnut.com/l/_M5N5aLqFYGX0

bonds in XY5 ? Give two properties of XY5.

o Watch Video Solution

6. An atom has two electrons more than the noble gas

configuration. What type of ion will it form?

o Watch Video Solution

7.What are the conditions necessary for the formation of

covalent molecules ? Give their properties.

o Watch Video Solution



https://dl.doubtnut.com/l/_M5N5aLqFYGX0
https://dl.doubtnut.com/l/_SiiuL3XPuh25
https://dl.doubtnut.com/l/_UWPtqTFOPmN2

8. Elements A, B and C have atomic humbers 9, 20 and 10
respectively.

State which one is :

(i) a non-metal

(ii) a metal

(iii) chemically inert.

o Watch Video Solution

9. Elements A, B and C have atomic humbers 9, 20 and 10
respectively.
Write down the formula of the compound formed by two

of the above elements.

o Watch Video Solution



https://dl.doubtnut.com/l/_tS7Yypjz3wEm
https://dl.doubtnut.com/l/_oSLoPVafZ5wU

10. State three differences between 'X' and 'X "' i.e., an

atom and an ion.

o Watch Video Solution

11. Differentiate between polar and non-polar covalent

molecules.

° Watch Video Solution

12. Explain with the help of (i) an ionic equation (ii)
electron dot structural diagram (iii)) atomic or orbital

structural diagram for the formation of the following:


https://dl.doubtnut.com/l/_oSLoPVafZ5wU
https://dl.doubtnut.com/l/_DN9x0c2WDvaG
https://dl.doubtnut.com/l/_GFmzbzM1XTc3
https://dl.doubtnut.com/l/_0k1650K7jL5S

(@) Sodium chloride (b) Calcium oxide (c) Magnesium

chloride.

° Watch Video Solution

13. Draw the structure of ammonia molecule.

o Watch Video Solution

14. Explain the following:

lonic compounds conduct electricity.

o Watch Video Solution



https://dl.doubtnut.com/l/_0k1650K7jL5S
https://dl.doubtnut.com/l/_QhRjZvTpOQPW
https://dl.doubtnut.com/l/_jaWhmycaRyIK

15. Explain the following:
lonic compounds have high melting point and boiling
point while covalent compounds have low melting and

boiling points.

o Watch Video Solution

16. Explain the following:
lonic compounds dissolve in water whereas covalent do

not.

o Watch Video Solution



https://dl.doubtnut.com/l/_NBxTtkjm3J44
https://dl.doubtnut.com/l/_JM9B4nEjLZ6x

17. Explain the following:

lonic compounds are usually hard crystals.

° Watch Video Solution

18. Predict the type of bonding in the following
molecules:

Oxygen

° Watch Video Solution

19. Predict the type of bonding in the following
molecules:

calcium oxide


https://dl.doubtnut.com/l/_sG7e0nYmJ7Ou
https://dl.doubtnut.com/l/_H9CXQQIJgvJ3
https://dl.doubtnut.com/l/_22Fwfjz7hc3q

o Watch Video Solution

20. Predict the type of bonding in the following
molecules:

water

o Watch Video Solution

21. Predict the type of bonding in the following
molecules:

methane

o Watch Video Solution



https://dl.doubtnut.com/l/_22Fwfjz7hc3q
https://dl.doubtnut.com/l/_cZnxo99VG4Dz
https://dl.doubtnut.com/l/_OqyP3ACeBuTc

22. Predict the type of bonding in the
molecules:

ammonium ion

following

o Watch Video Solution

23. Five atoms are labelled from Ato E

Atoms I Mass No. Aromic No.
A 40 20
B 19 9
C 7 3
D 16 8
E 14 ] 7

Which one of these atoms :
(i) contains 7 protons ?

(ii) has an electronic configuration 2,7 ?

[ -


https://dl.doubtnut.com/l/_4c756MxLHvA5
https://dl.doubtnut.com/l/_9zITkKW0DmLD

l &J Watch Video Solution

24. Five atoms are labelled from Ato E

A &0 20
] 19 9
C 7 3
D 16 B
E 14 7

Write down the formula of the compound formed

between C and D.

o Watch Video Solution



https://dl.doubtnut.com/l/_9zITkKW0DmLD
https://dl.doubtnut.com/l/_DjSKOnFjVq7t

25. Five atoms are labelled from Ato E

Atoms I Mass No. Atomic No.
A 40 20
H 19 E |
C 7 3 .
D 16 B
E 14 7

Predict which are :
(i) metals ?

(ii) non-metals?

o Watch Video Solution

26. Match the atomic number 4, 14, 8, 15 and 19 with each
of the following:

A solid non-metal of valency 3.

[ om |


https://dl.doubtnut.com/l/_RHIg5JJYBaXc
https://dl.doubtnut.com/l/_LzXNuO9I3SXg

l & Watch Video Solution J

27. Match the atomic number 4, 14, 8, 15 and 19 with of
the following:

A gas of valency 2.

o Watch Video Solution

28. Match the atomic number 4, 14, 8, 15 and 19 with of
the following:

A metal of valency 1.

o Watch Video Solution



https://dl.doubtnut.com/l/_LzXNuO9I3SXg
https://dl.doubtnut.com/l/_XN5KOv0Osydw
https://dl.doubtnut.com/l/_SyQpcFXqUUNm

29. Match the atomic number 4, 14, 8, 15 and 19 with of
the following:

A non-metal of valency 4.

o Watch Video Solution

30. Elements X, Y and Z have atomic numbers 6,9 and 12
respectively. Which one:

forms an anion

° Watch Video Solution

31. Elements X, Y and Z have atomic numbers 6, 9 and 12

respectively. Which one:


https://dl.doubtnut.com/l/_dytaN8nXKOlg
https://dl.doubtnut.com/l/_jsp0Xa4HssEQ
https://dl.doubtnut.com/l/_cGRtRhW3jfFY

forms a cation

o Watch Video Solution

32. Elements X, Y and Z have atomic numbers 6, 9 and 12
respectively. Which one:

has four electrons in the valency shell ?

o Watch Video Solution

Questions From Previous Icse Board Papers 2005

1. Compound X consists of molecules. Choose the letter

corresponding to the correct answer from the choices


https://dl.doubtnut.com/l/_cGRtRhW3jfFY
https://dl.doubtnut.com/l/_UsMzHcHQAyK1
https://dl.doubtnut.com/l/_B7APmytRwKjE

given below:

The type of bonding in X will be:

A. ionic

B. electrovalent

C. covalent

D. molecular

Answer:

o Watch Video Solution

2. Compound X consists of molecules. Choose the letter
corresponding to the correct answer from the choices

given below:


https://dl.doubtnut.com/l/_B7APmytRwKjE
https://dl.doubtnut.com/l/_XFeyO5zrDv9j

X is likely to have a : [A] low melting point and high
boiling point. [B] high melting point and low boiling
point. [C] low melting point and low boiling point. [D]
high melting point and high boiling point.

A. low melting point and high boiling point.

B. high melting point and low boiling point.

C. low melting point and low boiling point.

D. high melting point and high boiling point.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_XFeyO5zrDv9j

3. Compound X consists of molecules. Choose the letter

corresponding to the correct answer from the choices

given below:

In the liquid state, X will:

A. become ionic

B. be an electrolyte

C. conduct electricity

D. not conduct electricity

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_nergBY5WWule

4. Acids dissolve in water and produce positively charged

ions. Draw the structure of these positive ions.

° Watch Video Solution

5. Explain why Carbon tetrachloride does not dissolve in

water.

o Watch Video Solution

6. Elements Q and S react together to form an ionic
compound. Under normal conditions, which physical

state will the compound QS exist in ?

I o WiakAh \iAaAaA CAliikiAan



https://dl.doubtnut.com/l/_CUO8IGEPXQqp
https://dl.doubtnut.com/l/_622vncuWO9g3
https://dl.doubtnut.com/l/_hmWmTs6ZJlXl
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7.Can Q and S, both be metals ? Justify your answer.

o Watch Video Solution

Questions From Previous Icse Board Papers 2006

1. What is a lone pair of electrons ?

° Watch Video Solution

2. Draw an electron dot diagram of a hydronium ion and

label the lone pair of electron.



https://dl.doubtnut.com/l/_hmWmTs6ZJlXl
https://dl.doubtnut.com/l/_LVqY3Kgh3aT6
https://dl.doubtnut.com/l/_gXTUPyn54mJt
https://dl.doubtnut.com/l/_6S1iIzr86k6G

I o Watch Video Solution I

3. Name a neutral covalent molecule which contains lone

pair of electrons.

o Watch Video Solution

4. Choose the correct answer

The property which is characteristic of an electrovalent
compound is that : [A] it is easily vaporized; [B] it has a
high melting point; [C] it is a weak electrolyte ; [D] it

often exists as a liquid.

A. it is easily vaporized


https://dl.doubtnut.com/l/_6S1iIzr86k6G
https://dl.doubtnut.com/l/_DJL4Of4z9OHu
https://dl.doubtnut.com/l/_dqaNTjVJibxs

B. it has a high melting point
C.it is a weak electrolyte

D. it often exists as a liquid.

Answer:

o Watch Video Solution

5. Choose the correct answer

When a metallic atom becomes an ion ?

A. It loses electrons and is oxidised.

B. It gains electrons and is reduced.

C. It gains electrons and is oxidised.


https://dl.doubtnut.com/l/_dqaNTjVJibxs
https://dl.doubtnut.com/l/_PWncjOtZKJTc

D. It loses electrons and is reduced.

Answer:

o Watch Video Solution

Questions From Previous Icse Board Papers 2007

1. Name the charged particles which attract one another

to form electrovalent compounds.

o Watch Video Solution



https://dl.doubtnut.com/l/_PWncjOtZKJTc
https://dl.doubtnut.com/l/_SoCLSrtW8LkF

2.In the formation of electrovalent compounds, electrons
are transferred from one element to another. How are
electrons involved in the formation of a covalent

compound ?

o Watch Video Solution

3. The electronic configuration of nitrogen is 2,5. How
many electrons in the outer shell of a nitrogen atom are

not involved in the formation of a nitrogen molecule ?

o Watch Video Solution



https://dl.doubtnut.com/l/_Q97EvSWji8SL
https://dl.doubtnut.com/l/_YDJpUtzj8PyW

4. In the formation of magnesium chloride (by direct
combination between magnesium and chlorine), name
the substance that is oxidised and the substance that is

reduced.

o Watch Video Solution

Questions From Previous Icse Board Papers 2008

1. What is the term defined below?
A bond formed by a shared pair of electrons each

bonding atom contributing one electron to the pair.

o Watch Video Solution



https://dl.doubtnut.com/l/_t45bMEefbX82
https://dl.doubtnut.com/l/_qfDN9P0nXjbx

2. What are the terms defined in given below?
A bond formed by a shared pair of electrons with both

electrons coming from the same atom.

o Watch Video Solution

3. Which of the following is not a common characteristic

of an electrovalent compound ?

A. High melting point.

B. Conducts electricity when molten.

C. Consists of oppositely charged ions.

D. lonizes when dissolved in water.


https://dl.doubtnut.com/l/_V5yn6BBAPlJB
https://dl.doubtnut.com/l/_EfpIyNyh3m9O

Answer:

o Watch Video Solution

Questions From Previous Icse Board Papers 2009

1. Among the following the one which is composed of all

the three kinds of bond (ionic, covalent and coordinate

bond) is :

A. Sodium chloride

B. Ammonia

C. Carbon tetrachloride

D. Ammonium chloride


https://dl.doubtnut.com/l/_EfpIyNyh3m9O
https://dl.doubtnut.com/l/_ySlOghFQE1Pm

Answer:

o Watch Video Solution

2. Fill in the blanks with the correct words from the
brackets.
Generally ionic compounds exist in ..

(solid/liquid/gas) state.

o Watch Video Solution

3. Fill in the blanks with the correct words from the

brackets.


https://dl.doubtnut.com/l/_ySlOghFQE1Pm
https://dl.doubtnut.com/l/_PPknrRiwJLHI
https://dl.doubtnut.com/l/_RCycxfoJSi4C

Melting and boiling points of covalent compounds are

generally ... (low / high).

° Watch Video Solution

Questions From Previous Icse Board Papers 2010

1. Select the correct answer from the choices which are

given.
Write only the letter corresponding to the correct

answer.

A particular solution contains molecules and ions of the

solutesoitisa:

A. weak acid


https://dl.doubtnut.com/l/_RCycxfoJSi4C
https://dl.doubtnut.com/l/_2wJ7JRSAWGp1

B. strong acid

C.strong base

D. salt solution.

Answer:

o Watch Video Solution

2. Match the column A with column B.

Column A Column B
(i) Sodium chloride Covalent bond
(ii) Ammonium ion Tonic bond

(iii) Carbon tetrachloride Covalent and Coordinate bond

° Watch Video Solution



https://dl.doubtnut.com/l/_2wJ7JRSAWGp1
https://dl.doubtnut.com/l/_j8m2L28RoRG1

Questions From Previous Icse Board Papers 2011

1. Fill in the blanks from the choices given below:
In covalent compounds, the bond is formed due to the

............ (sharing/transfer) of electrons.

o Watch Video Solution

2.Fill in the blanks from the choices given below:
Electrovalent compounds have a..... (low/high)

boiling point.

o Watch Video Solution



https://dl.doubtnut.com/l/_vx8S4WqJphix
https://dl.doubtnut.com/l/_se1vtTxO234a

3. Fill in the blanks from the choices given below:
A molecule of ... contains a triple bond. (hydrogen,

ammonia, nitrogen)

o Watch Video Solution

4. By drawing an electron dot diagram, show the lone
pair effect leading to the formation of ammonium ion

from ammonia gas and hydrogen ion.

o Watch Video Solution

Questions From Previous Icse Board Papers 2012



https://dl.doubtnut.com/l/_WPTV8rPwskyD
https://dl.doubtnut.com/l/_hnpNE7HaK9uo

1. Draw an electron dot diagram to show the structure of

hydronium ion. State the type of bonding present in it.

° Watch Video Solution

Questions From Previous Icse Board Papers 2013

1. Give suitable chemical term for the following:

A bond formed by a shared pair of electrons with both

electrons coming from the same atom.

o Watch Video Solution



https://dl.doubtnut.com/l/_bNGskgTPKfax
https://dl.doubtnut.com/l/_Eoqsbq6PST2j

2. Choose the most appropriate answer from the
following options :
Among the following compounds identify the compound
that has all three bonds (ionic, covalent and coordinate
bond).

A. Ammonia

B. Ammonium chloride

C. Sodium hydroxide

D. Calcium chloride.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_wxQZKZA4EoKH
https://dl.doubtnut.com/l/_58Q9RdR1F5UU

3. Choose the most appropriate answer from the

following options :

Which of the following is not a typical property of an

ionic compound?

A. High melting point.

B. Conducts electricity in the molten and in the

aqueous solution state.

C.They are insoluble in water.

D. They exist as oppositely charged ions even in the

solid state.

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_58Q9RdR1F5UU

4. Compare the compounds carbon tetrachloride and
sodium chloride with regard to solubility in water and

electrical conductivity.

° Watch Video Solution

Questions From Previous Icse Board Papers 2014

1. Choose the correct answer from the options given
below :
A compound X consists of only molecules. Hence, X will

have :


https://dl.doubtnut.com/l/_58Q9RdR1F5UU
https://dl.doubtnut.com/l/_LNvHNWJA3GH3
https://dl.doubtnut.com/l/_PYKwSnaQehI2

A. A crystalline hard structure

B. A low melting point and low boiling point

C. An ionic bond

D. A strong force of attraction between its molecules

Answer:

o Watch Video Solution

2. Choose the correct answer from the options given
below :
The molecule containing a triple covalent bond is :

ammonia, methane, water, nitrogen

A. ammonia


https://dl.doubtnut.com/l/_PYKwSnaQehI2
https://dl.doubtnut.com/l/_VuFMB6vmazW2

B. methane

C. water

D. nitrogen

Answer:

o Watch Video Solution

3. Draw the structure of the stable positive ion formed

when an acid dissolves in water.

° Watch Video Solution



https://dl.doubtnut.com/l/_VuFMB6vmazW2
https://dl.doubtnut.com/l/_UcBByHuAb1Ae

4. Why do covalent compounds exist as gases, liquids or

soft solids ?

° Watch Video Solution

5. Name the kind of particles present in Sodium

Hydroxide solution.

o Watch Video Solution

6. Name the kind of particles present in Carbonic acid.

o Watch Video Solution



https://dl.doubtnut.com/l/_Y8tV1rzrCgWS
https://dl.doubtnut.com/l/_htnILP29H7M0
https://dl.doubtnut.com/l/_6efDQsTyXVsV
https://dl.doubtnut.com/l/_DVcHQdz7K7iE

7.Name the kind of particles present in Sugar solution.

o Watch Video Solution

8. M is a metal above hydrogen in the activity series and
its oxide has the formula M,0O. This oxide when dissolved
in water forms the corresponding hydroxide which is a
good conductor of electricity. In the above context
answer the following:

What kind of combination exists between M and O?

° Watch Video Solution



https://dl.doubtnut.com/l/_DVcHQdz7K7iE
https://dl.doubtnut.com/l/_MTdTt7S5nCJr

9. M is a metal above hydrogen in the activity series and
its oxide has the formula M,0O. This oxide when dissolved
in water forms the corresponding hydroxide which is a
good conductor of electricity. In the above context
answer the following:

How many electrons are there in the outermost shell of

M

o Watch Video Solution

10. M is a metal above hydrogen in the activity series and
its oxide has the formula M,0. This oxide when dissolved
in water forms the corresponding hydroxide which is a

good conductor of electricity. In the above context


https://dl.doubtnut.com/l/_ZGLS5x23XLDb
https://dl.doubtnut.com/l/_SNocX7p3BV4L

answer the following:

Name the group to which M belongs.

o Watch Video Solution

11. M is a metal above hydrogen in the activity series and
its oxide has the formula M5O. This oxide when dissolved
in water forms the corresponding hydroxide which is a
good conductor of electricity. In the above context
answer the following:

State the reaction taking place at the cathode.

o Watch Video Solution



https://dl.doubtnut.com/l/_SNocX7p3BV4L
https://dl.doubtnut.com/l/_Pnsqcp3mFPld

12. M is a metal above hydrogen in the activity series and
its oxide has the formula M,O. This oxide when dissolved
in water forms the corresponding hydroxide which is a
good conductor of electricity. In the above context
answer the following:

Name the product at the anode.

o Watch Video Solution

Questions From Previous Icse Board Papers 2015

1. Choose the most appropriate answer for each of the

following:


https://dl.doubtnut.com/l/_ZzIYkfSzyJem
https://dl.doubtnut.com/l/_k2mDdZJhaYVc

Bonding in this molecule can be understood to involve

coordinate bonding.

A. Carbon tetrachloride

B. Hydrogen

C. Hydrogen chloride

D. Ammonium chloride

Answer:

o Watch Video Solution

2. Carbon tetrachloride does not conduct electricity.

o Watch Video Solution



https://dl.doubtnut.com/l/_k2mDdZJhaYVc
https://dl.doubtnut.com/l/_6kWaz08MT7sq

3. Explain the bonding in methane molecule using

electron dot structure.

° Watch Video Solution

4.Element X is a metal with a valency 2, Y is a non metal

with a valency 3.

o Watch Video Solution

5. An element L consists of molecules.
What type of bonding is present in the particles that

make up L?

[ o Wiakrh \idAaA CAliikiAan



https://dl.doubtnut.com/l/_TCJHf1aBEZRE
https://dl.doubtnut.com/l/_7EB2fYt5cNPc
https://dl.doubtnut.com/l/_rMt5crNXmw5l
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6. An element L consists of molecules.
When L is heated with iron metal, it forms a compound
FeL. What chemical term would you use to describe the

change undergone by L?

o Watch Video Solution

Questions From Previous Icse Board Papers 2016

1. Choose the correct answer from the options given

below :

An element with the atomic number 19 will most likely


https://dl.doubtnut.com/l/_rMt5crNXmw5l
https://dl.doubtnut.com/l/_8InvkOWVcvjN
https://dl.doubtnut.com/l/_vlGgYOW074B6

combine chemically with the element whose atomic

number is :

A 17

B. 11

C.18

D. 20

Answer:

o Watch Video Solution

2.The following table shows the electronic configuration

of the elements W, X, Y, Z:


https://dl.doubtnut.com/l/_vlGgYOW074B6
https://dl.doubtnut.com/l/_59TRXe8vP93I

Element W X Y Z

BElectronic 281 1287 |25 1
Configurations

Answer the following questions based on the table above

What type of Bond is formed between :

1. Wand X 2.Yand Z

o Watch Video Solution

3.The following table shows the electronic configuration

of the elements W, X, Y, Z:

Blement w X Y Z
Blectronic 281 (287 |25 1
'Cnrl.ﬁgl.n'uﬂm

Answer the following questions based on the table above


https://dl.doubtnut.com/l/_59TRXe8vP93I
https://dl.doubtnut.com/l/_fH9L9oJvgkQu

What is the formula of the compound formed between :

1.X and Z 2.W and X

o Watch Video Solution

4. By drawing an electron dot diagram show the

formation of Ammonium lon [Atomic No.: N=7 and H=1]

° Watch Video Solution

Questions From Previous Icse Board Papers 2017


https://dl.doubtnut.com/l/_fH9L9oJvgkQu
https://dl.doubtnut.com/l/_IR0elyEDdw6g

1. Explain why Carbon tetrachloride does not dissolve in

water.

o Watch Video Solution

2. Choose the correct answer from the options given
below:
Which of the following is a common characteristic of a
covalent compound?

A. high melting point

B. consists of molecules

C. always soluble in water

D. conducts electricity when it is in the molten state


https://dl.doubtnut.com/l/_sCvG5uTAiB49
https://dl.doubtnut.com/l/_62XwpbdG1QXg

Answer:

° Watch Video Solution

3. ldentify the substance underlined in the following case

The particles present in a liquid such as kerosene, that is

a non electrolyte.

o Watch Video Solution

4. Draw an electron dot diagram to show the formation
of each of the following compounds :

(i) Methane


https://dl.doubtnut.com/l/_62XwpbdG1QXg
https://dl.doubtnut.com/l/_AxO6KbgiDiL6
https://dl.doubtnut.com/l/_ZAVPQ9wm70ZG

(i) Magnesium Chloride

[H=1,C=6,Mg=12,Cl =17]

° Watch Video Solution

Questions From Previous Icse Board Papers 2018

1. Give a reason for each of the following:

lonic compounds have a high melting point.

o Watch Video Solution

2. Give a reason for each of the following:

Inert gases do not form ions.

[ om


https://dl.doubtnut.com/l/_ZAVPQ9wm70ZG
https://dl.doubtnut.com/l/_xWkRcqzg9oPn
https://dl.doubtnut.com/l/_B8cpfOURVXv6

l & Watch Video Solution

3. Give a reason for each of the following:

Alkali metals are good reducing agents.

o Watch Video Solution

4. Fill up the blank with the correct choice given in

bracket.

lonic or electrovalent compounds do not conduct

electricity in their state. (fused/solid)

° Watch Video Solution



https://dl.doubtnut.com/l/_B8cpfOURVXv6
https://dl.doubtnut.com/l/_SzFPhqV3KIXQ
https://dl.doubtnut.com/l/_a1ddOZSCoQks

5. What do you understand by a lone pair of electrons ?

o Watch Video Solution

6. Draw the electron dot diagram of Hydronium ion. (H =

1,0 =8)

o Watch Video Solution

1. Name the charged particles which attract one another

to form electrovalent compounds.

& |


https://dl.doubtnut.com/l/_Ils32jo2XcEd
https://dl.doubtnut.com/l/_M2bAjvAs1Bqc
https://dl.doubtnut.com/l/_wzcM4ViPfVvb
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2. How are electrons involved in the formation of a

covalent compound.

o Watch Video Solution

3. The electronic configuration of nitrogen is 2, 5. How
many elelctrons in the outer shell nitrogen atom are not

involved in the formation of a nitrogen molecule.

o Watch Video Solution



https://dl.doubtnut.com/l/_wzcM4ViPfVvb
https://dl.doubtnut.com/l/_zNlmyuFl4fm5
https://dl.doubtnut.com/l/_QxTBCFtvU5EX

4. In the formation of magnesium chloride (by direct
combination between magnesium and chlorine), name
the substance that is oxidised and the substance that is

reduced.

o Watch Video Solution

5. Which of the following is not a common characteristic

of an electrovalent compound ?

o Watch Video Solution

6. State the terms defined in each case: A bond formed by

- [a] a shared pair of electrons, each bonding atom


https://dl.doubtnut.com/l/_gK7juEmW6U4E
https://dl.doubtnut.com/l/_c2OQLVoUxkCz
https://dl.doubtnut.com/l/_yccuoDvGHstM

contibuting one electron to the pair. [b] a shared pair of
electrons with both electrons coming from the same

atom.

o Watch Video Solution

7. The ane which os composed of all the three kinds of
bond [ ionic, covalent and corodinate bond ] is: [A]
Sodium chloride [B] Ammonia [C] Carbon tetrachloride

[D] Ammonia chloride

o Watch Video Solution

8. Draw the structural formula of carbon tetrachloride &

state the type of bond present in it.


https://dl.doubtnut.com/l/_yccuoDvGHstM
https://dl.doubtnut.com/l/_TQASoUGaDPMh
https://dl.doubtnut.com/l/_ynXDnfxyv0Wk

o Watch Video Solution

9. Select the correct answer from A, B, C & D - Metals lose
electrons during ionization - this change is called A:

Oxidation B: Reduction C: Redox D: Displacement.

o Watch Video Solution

10. Select the right answer from the choicce - covalent
bond/ ionic bond/ covalent & coordinate bond for each
of the following - [i] Sodium chloride [ii]] Ammonium ion

[iii] Carbon tetrachloride.

o Watch Video Solution



https://dl.doubtnut.com/l/_ynXDnfxyv0Wk
https://dl.doubtnut.com/l/_yu3fTXHlit6f
https://dl.doubtnut.com/l/_U7yUTQGJ7ki9

11. [i] Incovalent compounds, the bond is formed due to
__ [sharing/ transfer] of electrons. [ii] Electrovalent
compounds have a_ [low/ high] boiling point. [iii] A
milecule of _ contains a triple bond. [hydrogen,

ammonia, nitrogen].

o Watch Video Solution

12. Draw an electron dot diagram: showing the lone pair
effect for information of - NI—I414r ion from NHj gas &

H' ion.

o Watch Video Solution



https://dl.doubtnut.com/l/_oMkCEVEbyr2W
https://dl.doubtnut.com/l/_SsM95nxgkUS3

13. Give reason - Hydrogen chloride can be termed as a

polar covalent compound.

° Watch Video Solution

14. Draw an electron dot diagram to show the structure

of hydronium ion. State the type of bonding present in it.

o Watch Video Solution

15. There are three elements E, F, G with atomic numbers
19, 8 and 17 respectively.

Give the molecular formula of the compound formed


https://dl.doubtnut.com/l/_8MpwVOlMzfw2
https://dl.doubtnut.com/l/_iXpupXPvi3ml
https://dl.doubtnut.com/l/_N4kHHqcuY7cS

between E and G and state the type of chemical bond in

this compound.

o Watch Video Solution

16. A chemical term for. A bond formed by a shared pair of
electrons with both electrons coming from the same

atom.

o Watch Video Solution

17. Among the compiound identify the compound that
has all three bonds [ionic, covalent & coordinate bond] A:
Ammonia B: Ammonium chloride C: Sodium hydroxide D:

Calcium chloride


https://dl.doubtnut.com/l/_N4kHHqcuY7cS
https://dl.doubtnut.com/l/_Vb3MHg2BpFuL
https://dl.doubtnut.com/l/_JG3NcXwVjb7w

o Watch Video Solution

18. State which is not a typical property of an ionic
compound. A: high m.p. B: Conducts electricity in moltern
& in the aq. Soln. state. C : Are insoluble in water. D: Exist

as oppositely charged ions even in the solid state.

° Watch Video Solution

19. Compare carbon tetrachloride & sodium chloride with

regard to solubility in water & electrical conductivity.

o Watch Video Solution



https://dl.doubtnut.com/l/_JG3NcXwVjb7w
https://dl.doubtnut.com/l/_S7gttfyTpDl4
https://dl.doubtnut.com/l/_vJeTSK2pa1xF

20. Compound 'X' consists of only molecules. X' will have -
A: Crystalline hard stucture B: A low m.p. & low b.p. C: An
ionic bond D: A strong force of attraction between its

molecules.

o Watch Video Solution

21. The molecules which contains a triple covalent bond

is: A: ammonia B: methane C: water D: nitrogen

o Watch Video Solution

22. Give one word or phrase for the following:

Formation of ions from molecules.


https://dl.doubtnut.com/l/_ZqpIspXXO8Xb
https://dl.doubtnut.com/l/_sAygr5xlllF6
https://dl.doubtnut.com/l/_j20u5EMKIMZO

o Watch Video Solution

23. Give a reason why covalent compounds exist as gases,

liquid or soft solids.

o Watch Video Solution

24.Bonding in which - A: CCl, B: Hy,C: HCl D: NH,C! -

involves coordinate bonding.

o Watch Video Solution

25. Give scientific reason : Carbon tetrachloride does not

conduct electricity.


https://dl.doubtnut.com/l/_j20u5EMKIMZO
https://dl.doubtnut.com/l/_kU4L5ThBHICM
https://dl.doubtnut.com/l/_OHsLUOfQhmLy
https://dl.doubtnut.com/l/_lsI6IRxvX5AO

o Watch Video Solution

26. Explain the bonding in methane molecule using

electron dot structure.

o Watch Video Solution

27. An element L consists of molecules. [i][What type of
bonding is present in the particles that make up L. [ii]
When L is heated with ieon metal, it forms a compound
FeL. What chemical term would you use to describe the

change undergone by L.

° Watch Video Solution



https://dl.doubtnut.com/l/_lsI6IRxvX5AO
https://dl.doubtnut.com/l/_01yZy103aZIK
https://dl.doubtnut.com/l/_T5YgJWUWMypO

28. Fill in the blanks from the choice given: Electrovalent

compoun have _ [high/low] melting points.

° Watch Video Solution

29. Elemants - W, X, Y & Z have electronic configurations
W=28,1,X=2,8,7,Y=2,5,2=1

[i] What type of bond is formed between: [a] W & X [b] Y
&Z

[iil What is the formula of the compound formed

between: [a] X & Z [b] W & X

o Watch Video Solution



https://dl.doubtnut.com/l/_21CgBJ2p5SOV
https://dl.doubtnut.com/l/_TxZwx7daWfYh

30. Draw an electron dot diagram to show the formation

of ammoniumion [N=7,H =1]

° Watch Video Solution

31.Fill in the blank - The compound that does not have a
lone pair of electrons is . [water, ammonia, carbon

tetrachloride]

° Watch Video Solution

32. State which of the following is a common

characteristic of a covalent compound. A. High melting


https://dl.doubtnut.com/l/_8Kzm7hQV0WCQ
https://dl.doubtnut.com/l/_Ck13XG5EIESf
https://dl.doubtnut.com/l/_MlwLN7D0guJP

point B. Consists of molecule C. Always soluble in water D.

Conducts electricity when it is the moltern state.

° Watch Video Solution

33. State the type of Bonding in the following molecules:

(i) Water (ii) Calcium oxide

o Watch Video Solution

34.Draw an electron dot diagram to show the formation
of each of the following compounds :

(i) Methane

(i) Magnesium Chloride

[H=1,C=6,Mg =12,Cl =17]



https://dl.doubtnut.com/l/_MlwLN7D0guJP
https://dl.doubtnut.com/l/_Lk8EmNdVEL9M
https://dl.doubtnut.com/l/_cXoxsUN5ebPV

o Watch Video Solution

35. Give one word or a phrase for - Process of formation

of ions from molecules which are not in the ionic state.

o Watch Video Solution

36. Give a reason for each of the following:

lonic compounds have a high melting point.

o Watch Video Solution

37. Fill up the blank with the correct choice given in

bracket.


https://dl.doubtnut.com/l/_cXoxsUN5ebPV
https://dl.doubtnut.com/l/_mN7y5d8UWGJ5
https://dl.doubtnut.com/l/_HTUXU7QW3JqJ
https://dl.doubtnut.com/l/_CbdpTnSJuIpj

lonic or electrovalent compounds do not conduct

electricity in their state. (fused/solid)

° Watch Video Solution

38. State the meaning of - 'lone pair of electrons' . Draw

the electron dot diagram of - Hydronium ion. [H =1, O = 8]

o Watch Video Solution

39. Give the approppriate term for : The covalent bond in
which the electrons are shared equally between the

combining atoms.

o Watch Video Solution



https://dl.doubtnut.com/l/_CbdpTnSJuIpj
https://dl.doubtnut.com/l/_8RLuSls3uc0y
https://dl.doubtnut.com/l/_ss1YRfyNmaTe

40. Draw the electron dot structure of :
[i] Nitrogen molecule [N = 7], [ii] Sodium chloride [Na =

1, Cl =17], [iii] Ammoniumion [N=7,H=1]

o Watch Video Solution

41. Fill up the blank with the correct choice given in

bracket.

lonic or electrovalent compounds do not conduct

electricity in their state. (fused/solid)

o Watch Video Solution



https://dl.doubtnut.com/l/_ss1YRfyNmaTe
https://dl.doubtnut.com/l/_VGLNMLHSnWvm
https://dl.doubtnut.com/l/_Z4Xz0aqbRGPH

42. In the molten state (liquid state) ionic compounds

conduct electricity.

° Watch Video Solution

43. When ionic compounds are dissolved in water, they

conduct electricity. Explain .

o Watch Video Solution

44. In the solid state, electrovalent compounds are poor

conductor of electricity. Give reason.

° Watch Video Solution



https://dl.doubtnut.com/l/_JAQDIVRERVPo
https://dl.doubtnut.com/l/_9yV4tq4YyzJZ
https://dl.doubtnut.com/l/_TS7SfjeeQfcZ

45, In the molten state (liquid state) ionic compounds

conduct electricity.

o Watch Video Solution

46. Choose the correct answer

The property which is characteristic of an electrovalent
compound is that : [A] it is easily vaporized; [B] it has a
high melting point; [C] it is a weak electrolyte ; [D] it

often exists as a liquid.

A. it is easily vapourised.
B. it has a high melting point.

C. it is a weak electrolyte.


https://dl.doubtnut.com/l/_8alazFlwgbR2
https://dl.doubtnut.com/l/_BoAzYrklwhhl

D. it often exists as a liquid.

Answer: B

o Watch Video Solution

47. Elements Q and S react together to form an ionic
compound. Under normal conditions, which physical

state will the compound QS exist in ?

o Watch Video Solution

48.Can Q and S, both be metals ? Justify your answer.

o Watch Video Solution



https://dl.doubtnut.com/l/_BoAzYrklwhhl
https://dl.doubtnut.com/l/_fo327NeigK79
https://dl.doubtnut.com/l/_rId8IWdwdFwI

49. Atomic number of hydrogen is 1 and the atomic
number of fluorine atom is 9. Write the formation of

hydrogen fluoride (HF).

o Watch Video Solution

50. State the type of bonding in the following molecules -

[i] Water , [ii] Calcium oxide

° Watch Video Solution

51. Predict the type of bonding in the following

molecules:


https://dl.doubtnut.com/l/_rId8IWdwdFwI
https://dl.doubtnut.com/l/_EM7TH0S0uNOo
https://dl.doubtnut.com/l/_O7tpi9toJfpl
https://dl.doubtnut.com/l/_7BfrrS4Jl47R

calcium oxide

o Watch Video Solution

52. Describe the formation of a double bond in a

molecule of carbon dioxide (CO,).

o Watch Video Solution

53. Write the valency of each atom in CO,

o Watch Video Solution



https://dl.doubtnut.com/l/_7BfrrS4Jl47R
https://dl.doubtnut.com/l/_nSHez7cYrd9g
https://dl.doubtnut.com/l/_BwbDP50je4tI

54.Draw an electron dot diagram to show the formation
of each of the following compounds :

(i) Methane

(i) Magnesium Chloride

[H=1,C=6,Mg=12,Cl=17]

o Watch Video Solution

55. Draw an electron dot diagram to show the formation
of each of the following compounds :

(i) Methane

(i) Magnesium Chloride

[H=1,C=6,Mg=12,Cl =17]

o Watch Video Solution



https://dl.doubtnut.com/l/_mrVRPeYujcgM
https://dl.doubtnut.com/l/_pyuqcQmmZZ7u

56. Hydrogen chloride can be termed as a polar covalent

compound. Give reason.

o Watch Video Solution

57. An element L consists of molecules.

What type of bonding is involved in the particle of L ?

° Watch Video Solution

58. An element L consists of molecules.

When L is heated with iron metal, it forms a compound


https://dl.doubtnut.com/l/_pyuqcQmmZZ7u
https://dl.doubtnut.com/l/_3L8k4dp4HMEq
https://dl.doubtnut.com/l/_yeCducfRqq6q
https://dl.doubtnut.com/l/_6W2l92ED8GDK

FeL. What type of chemical term would you use for the

change undergone by L ?

o Watch Video Solution

59. Choose the correct answer from the options given
below:
Which of the following is a common characteristic of a
covalent compound?

A. High melting point

B. consists of molecules

C. always soluble in water

D. conducts electricity when it is in the molten state.


https://dl.doubtnut.com/l/_6W2l92ED8GDK
https://dl.doubtnut.com/l/_fTq3jjf0dwrh

Answer:

° Watch Video Solution

60. The following table shows the electronic

configurations of the elements W, X, Y and Z.

I __Efﬁl'lﬂ!l Es w T X . ' "'_ - - F4
| Electronic configuration 281 2 .Bl, 7 25 Er ;

Answer the following question based on the above table:

W and X

° Watch Video Solution

61. The following table shows the electronic

configurations of the elements W, X, Y and Z.


https://dl.doubtnut.com/l/_fTq3jjf0dwrh
https://dl.doubtnut.com/l/_NXYkhdmoVH1t
https://dl.doubtnut.com/l/_QxVe2GF9OkLt

_l_ffﬂllﬂll I w [ X i I"- Z 2
Electronic configuration 281 z,l;ls, 7 | Z5 -l'

Answer the following question based on the above table:

Name the type of bond is formed between: Y and Z

o Watch Video Solution

62. The following table shows the electronic

configurations of the elements W, X, Y and Z.

[ _ Element [ w | X ] Y R
| Electronic configuration 2. 81 .

Answer the following question based on the above table:
Give the formula of the compound formed between: X

and Z

o Watch Video Solution



https://dl.doubtnut.com/l/_QxVe2GF9OkLt
https://dl.doubtnut.com/l/_RTS3u3vQb12I
https://dl.doubtnut.com/l/_RVL0uEUC6Blg

63. The following table shows the electronic
configurations of the elements W, X, Y and Z.

| Element w ' X | Y z.
Electronic comfiguration 2817 287 | 25 } 1

Answer the following question based on the above table:

W and X

o Watch Video Solution

64. Compound X consists of molecules. Choose the letter
corresponding to the correct answer from the choices
given below:

The type of bonding in X will be :

A. lonic


https://dl.doubtnut.com/l/_RVL0uEUC6Blg
https://dl.doubtnut.com/l/_6Ngpja1lJYX8

B. electrovalent

C. covalent

D. molecular

Answer:

o Watch Video Solution

65. Compound X consists of molecules.
Choose the letter corresponding to the correct answer
from the choices A, B, C and D given below:

X is likely to have a

A. low melting point and high boiling point.

B. high melting point and low boiling point.


https://dl.doubtnut.com/l/_6Ngpja1lJYX8
https://dl.doubtnut.com/l/_qrA1RfbAmLfx

C.low melting point and low boiling point.

D. high melting point and high boiling point.

Answer:

o Watch Video Solution

66. Compound X consists of molecules. Choose the letter

corresponding to the correct answer from the choices

given below:

In the liquid state, X will:

A. become ionic.

B. be an electrolyte

C. conduct electricity.


https://dl.doubtnut.com/l/_qrA1RfbAmLfx
https://dl.doubtnut.com/l/_scICanLI8aHN

D. not conduct electricity.

Answer:

o Watch Video Solution

67. Name the bond formed by a shared pair of electrons

with both the electrons coming from the same atom.

° Watch Video Solution

68. What is a lone pair of electrons ?

° Watch Video Solution



https://dl.doubtnut.com/l/_scICanLI8aHN
https://dl.doubtnut.com/l/_5YDCqBwLu0zP
https://dl.doubtnut.com/l/_wRjHgU5FDaVd
https://dl.doubtnut.com/l/_z5IBkCmxzwgV

69. Draw an electron dot diagram of a hydronium ion and

label the lone pair of electron.

o Watch Video Solution

70.Fill in the blank - The compound that does not have a
lone pair of electrons is . [water, ammonia, carbon

tetrachloride]

o Watch Video Solution

71. By drawing an electron dot diagram, show the lone
pair effect leading to the formation of ammonium ion

from ammonia gas and hydrogen ion.



https://dl.doubtnut.com/l/_z5IBkCmxzwgV
https://dl.doubtnut.com/l/_a26FH7CW7LKl
https://dl.doubtnut.com/l/_6wDSdO65Qw7A

l o Watch Video Solution I

72. By drawing an electron dot notation show the

formation of ammonium ion .

° Watch Video Solution

Additional Question

1. State the force which holds two ro more atoms

together as a stable molecule.

o Watch Video Solution



https://dl.doubtnut.com/l/_6wDSdO65Qw7A
https://dl.doubtnut.com/l/_C3yRLVnquWb7
https://dl.doubtnut.com/l/_m1UCQTVSLeLd

2. Draw the geometrical atomic structure representing
the electronic configuration of atoms of elements of

[a] Period- 2

[i] group 14[IVA] - carbon [at. no. 6]

[ii] group 15[VA] - nitrogen [at. no. 7]

[iii] group 16 [VIA] - oxygen [at. no. §]

[b] Period - 3
[i] group 1[IA] - sodium[at. no. 11]
[ii] group 2[lIA] - magnesiumlat. no. 12]

[iii] group 17[VIIA] - chlorine[at. no. 17]

[c] Period - 4

[i] group 2[lIA] - calcium [at. no. 20].

.Y l


https://dl.doubtnut.com/l/_AefehLb7VIhI
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3. What is the meant by the term 'chemical bond' and

'‘chemical bonding'.

o Watch Video Solution

4. State why noble gases are unreactive while atoms of

elements other than noble gases are chemically reactive.

o Watch Video Solution

5. State the reasons for chemical bonding between two

atoms and the mothods involved for achieving the same.


https://dl.doubtnut.com/l/_AefehLb7VIhI
https://dl.doubtnut.com/l/_4bUsMa4yTEoU
https://dl.doubtnut.com/l/_mnr1hq0NPlhU
https://dl.doubtnut.com/l/_gwA2L1WtnX7l

State how 'duplet and octet' rules are involved for an

atom to achieve stable electronic config.

° Watch Video Solution

6. State the type of compounds formed by transfer of
valence electrons from one atom to another, and explain
the method of formation of the same. State the role of

'cations' and 'anions' in their formation.

o Watch Video Solution

7. Define the terms : [i] Electrovalent or ionic bond

o Watch Video Solution



https://dl.doubtnut.com/l/_gwA2L1WtnX7l
https://dl.doubtnut.com/l/_cLkWRSr4e6cY
https://dl.doubtnut.com/l/_u3qJnxafcFfv

8. What is meant by the term 'electrovalency'. State why
Na [at. no. 11] has a electropositive valency of +1 and Cl [

at. no. 17] an electronegative valency of -1.

o Watch Video Solution

9, State three differences between 'X' and 'X ™' i.e., an

atom and an ion.

° Watch Video Solution

10. Explain the terms 'oxidation' and 'reduction’ with

reference to an atom or ion.



https://dl.doubtnut.com/l/_u3qJnxafcFfv
https://dl.doubtnut.com/l/_5ePJIR0uqegx
https://dl.doubtnut.com/l/_qSwDBXKs459G
https://dl.doubtnut.com/l/_UjVCOpGfv5Vj

I o Watch Video Solution I

11. State which of the following are oxidation reactions
and which are reduction reactions:

[l Cu— Cu" +2e~ [iil Cu’" +2 — Cu il
Sntt 42 = Sn2t [iv] 201 — Cly+2e [Vl
Fe?t 5 Fe3t +1e” il X +2 — X2 |vii]

Y —1le” = Y iii] 231 +1e- — Z2°

o Watch Video Solution

12. State which of the following are oxidation reactions
and which are reduction reactions: [i] Zn — Zn®™" [ii]

S — S%7 [iii] Sn®t — Sn[iv] Fe2™ — Fe3t



https://dl.doubtnut.com/l/_UjVCOpGfv5Vj
https://dl.doubtnut.com/l/_phNG2UpHgFgB
https://dl.doubtnut.com/l/_4JNxpn9LIpyw

I o Watch Video Solution ]

13. Explain with the help of [i] an ionic equation T[ii]
electron dot structural diagram - the formation of the
following

[a] Sodium chloride [b] Calcium oxide [c] Magnesium

chloride. [at.nos. Na =11, Cl =17, Ca = 20, O = 8, Mg = 12].

o Watch Video Solution

14. Fill in the blanks with the appropriate word/s from
the brackets.
NaCl an eletrovalent compounds is formed as a result of

transfer of [ one, two, three] valence electrons from


https://dl.doubtnut.com/l/_4JNxpn9LIpyw
https://dl.doubtnut.com/l/_iHRYDKMuu6A4
https://dl.doubtnut.com/l/_cvKdcGYrG26Q

metallic sodium to non- metallic chlorine atom. CaO is
similarly formed as a result of transfer of [ one, two,
three] valence electron/s from metallic calcium to non-

metallic oxygen and megnesium chloride by transfer of

___[ one, two, three] valence electron/s from ___ [one,
two] magnesium atom/s to __ [one, two] chlorine
atom/s.

o Watch Video Solution

15. Fill in the blanks with the appropriate word/s from the
brackets.
Covalent compounds are formed by sharing electron

pairs between non- metallic atoms. Non- metallic atoms


https://dl.doubtnut.com/l/_cvKdcGYrG26Q
https://dl.doubtnut.com/l/_XGcLSJV5EZq8

having , , valence electrons [4, 5, 6, 7] share one,

two or three pairs of electrons respectively.

° Watch Video Solution

16. Define and explain the term - [i] covalent or molecular
bond [ii] covalent or molecular compound [iii] Covalency

[iv] Shared pair of electrons

° Watch Video Solution

17. Give two differences between the covalent compounds

- methane [non- polar] and HCI [polar].

o Watch Video Solution



https://dl.doubtnut.com/l/_XGcLSJV5EZq8
https://dl.doubtnut.com/l/_9T6eVfD779aQ
https://dl.doubtnut.com/l/_Ufkz8jLZiiAb

18. Explain with the help of - electron dot diagrams -

the formation of the following molecules, stating the
valency of each element involved.

[a] Hydrogen [b] Chlorine [c] Oxygen [d] Nitrogen [e]
Water [f] Methane [ g] Carbon tetrachloride [h] Ammonia

[i] Carbon dioxide [at.nos.H=1,C=6,N=7,0=8, Cl =17].

o Watch Video Solution

19. Give reasons for the following:
Molecules of hydrogen and chlorine have single covalent
bonds between their atoms while oxygen has a double

covalent and nitrogen a triple covalent bond respectively.

e . l


https://dl.doubtnut.com/l/_Ufkz8jLZiiAb
https://dl.doubtnut.com/l/_wGgtG6808CKN
https://dl.doubtnut.com/l/_d20VNz7naadn
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20. Give reasons for the following:

A molecule of methane has four single covalent bonds.

o Watch Video Solution

21. Give reasons for the following:
Formation of ammonia involves one atom of nitrogen
sharing three electrons one with each of the three atoms

of hydrogen.

o Watch Video Solution



https://dl.doubtnut.com/l/_d20VNz7naadn
https://dl.doubtnut.com/l/_07udoYpuk5ki
https://dl.doubtnut.com/l/_IloaOchAdPCZ

22. Explain the terms [a] Lone pair of electrons [b]

Coordinate bond.

° Watch Video Solution

23. Explain diagrammatically the lone pair effect of

[a] The nitrogen atom of the ammonia molecule leading
to the formation of ammonium ions [NH,] "

[b] The oxygen atom of the HyO molecule leading to
formation of hydronium [H3O+] & hydroxyl ions

[OH]"

o Watch Video Solution



https://dl.doubtnut.com/l/_ni4ENt93IrtG
https://dl.doubtnut.com/l/_buTJb5NTfmyy

24. Give reasons for the following

Electrovalent compounds are soluble in water, insoluble
in organic solvents, good conductors of electricity in
molten or aq.solution state, have high meltimg points
and undergo electrolytic dissociation on pasaage of
electric current, while covalent compounds are soluble in
organic solvents, insoluble in water, non-conductors of
electricity, have low melting points & undergo ionisation

on passage of electric current.

o Watch Video Solution

Unit Test Paper 2


https://dl.doubtnut.com/l/_WdAWGWgcyoCf

1. Give reasons for the following :
NHj; gas a covalent compound does not conduct

electricity but its aq.soln.NH,OH is a weak electrolyte.

o Watch Video Solution

2. Give reasons for the following :
MgCl, is soluble in water but insoluble in acetone, while

methane is insoluble in water, but soluble in acetone.

o Watch Video Solution

3. Give reasons for the following :

Iron displaces copper from a solution of a copper salt.


https://dl.doubtnut.com/l/_bPFBJ1TqIeLZ
https://dl.doubtnut.com/l/_KRzVDRGTcT8U
https://dl.doubtnut.com/l/_GxITHhUYaYuz

The reaction is deemed as a redox reaction.

o Watch Video Solution

4. Give reasons for the following :
A non- metallic atom [at.no. 9] forms a molecule of the

same, containing a single covalent bond.

o Watch Video Solution

5. Give reasons for the following :
In the information of MgO the magnesium atom [at.no.

12] loses two electrons from its valence shell.

o Watch Video Solution



https://dl.doubtnut.com/l/_GxITHhUYaYuz
https://dl.doubtnut.com/l/_VEPCwzDCjs9a
https://dl.doubtnut.com/l/_of2ORRZs9y0t

6. With reference to a molecule of water, fill in the blanks
with the correct word. [at.no.of H=1,0 = 8]
Water is a [non-polar / polar] covalent

molecule in which the atom of [hydrogen /

oxygen] attracts electrons more strongly toward itself.

The water molecule shows the presence of [

double / one single/ two single] covalent bond/s and

[ one / two] lone pair or electrons present in

the [ hydrogen / oxygen] atom.

o Watch Video Solution

7. Fill in the blanks with the correct word from the

brackets:


https://dl.doubtnut.com/l/_of2ORRZs9y0t
https://dl.doubtnut.com/l/_XkbQK338VKAG
https://dl.doubtnut.com/l/_qif1guVRi8qx

The bond between two elements in group 17[VIIA] of the

periodic table is likelyto be _ [ionic / covalent]

° Watch Video Solution

8. Fill in the blanks with the correct word from the
brackets:

In the reaction of Cly +2KI — 2KCl+ I, the
conversion of 21 to I, is deemed as [ oxidation /

reduction]

o Watch Video Solution

9. Fill in the blanks with the correct word from the

brackets:


https://dl.doubtnut.com/l/_qif1guVRi8qx
https://dl.doubtnut.com/l/_whU2WRqNnUZE
https://dl.doubtnut.com/l/_Qiwsig8m3LWv

The covalent molecule containing three single covalent

bonds is [water / methane / ammonial.

° Watch Video Solution

10. Fill in the blanks with the correct word from the
brackets:

The molecule of water combines with a [

hydrogen atom / proton / hydrogen molecule] to form a

hydronium ion.

o Watch Video Solution

11. Fill in the blanks with the correct word from the

brackets:


https://dl.doubtnut.com/l/_Qiwsig8m3LWv
https://dl.doubtnut.com/l/_vWsImLAqxVKE
https://dl.doubtnut.com/l/_JYcomeT33DUg

For formation of an electrovalent bond between
elements 'X' and 'Y' which are a metal and non-matal

respectively, X should have a [high / low]

ionization potential and 'Y' a [high / low]

electron affinity.

° Watch Video Solution

12. Electronic configuration of the following elements are
given:

1.Sodium -Na =2,8,12. Hydrogen -H =1
3.Carbon-C=2,4 4.Chlorine-Cl=2,8,7

5. Lithium - Li = 2,1

State which of the compounds given below:

[a] have high / low boiling points, [b] are soluble /


https://dl.doubtnut.com/l/_JYcomeT33DUg
https://dl.doubtnut.com/l/_YdF9fkFnRW6q

insoluble in organic solvents.
A: Hydrogen chloride. B: Sodium chloride. C: Sodium
hydriode.

D: Lithium chloride. E: Carbon tetrachloride.

o Watch Video Solution

13. A compound has a formula = ""HyY '’. Y denotes a
non - metal. State the following:

The electronic configuration of Y.

o Watch Video Solution

14. A compound has a formula = ""HyY '’. Y denotes a

non - metal. State the following:


https://dl.doubtnut.com/l/_YdF9fkFnRW6q
https://dl.doubtnut.com/l/_EGzELgQSwOom
https://dl.doubtnut.com/l/_pSItKcXWBCOD

the valency of Y.

o Watch Video Solution

15. A compound has a fortmula = ""HyY "' Y denotes a
non - metal. State the following:

The bonding present in "HyY .

o Watch Video Solution

16. A compound has a formula = ""HyY ' ’. Y denotes a
non - metal. State the following:
The bonding present in the compound formed between

potassium [‘;’BK] and'Y".

& |


https://dl.doubtnut.com/l/_pSItKcXWBCOD
https://dl.doubtnut.com/l/_uzs9hOdLGVXy
https://dl.doubtnut.com/l/_xoUc98jgqwxW

| ¥ Vvvatch viaeo >olution ]

17. A compound has a fortmula = ""HyY '’ Y denotes a
non - metal. State the following:

The formula of the compound formed between calcium

[‘21800,] and Y.

o Watch Video Solution

Questions Fill In The Blanks From The Choices Given In The

Brackets

1. In covalent compounds the bond is formed due to the

of electrons. (sharing/transfer)

[ o Wiak h \NtAaA CAliikian



https://dl.doubtnut.com/l/_xoUc98jgqwxW
https://dl.doubtnut.com/l/_ZW56kyPDX6WE
https://dl.doubtnut.com/l/_J7BivLU3baT3
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2. Electrovalent compounds have a boiling

point. (lowlhigh)

° Watch Video Solution

3. A molecule of _ contains a triple bond.

(hydrogen, ammonia, nitrogen)

o Watch Video Solution

4. Fill in the blanks from the choice given: Electrovalent

compoun have _ [high/low] melting points.

[ o |


https://dl.doubtnut.com/l/_J7BivLU3baT3
https://dl.doubtnut.com/l/_tvaxcPUKZsNk
https://dl.doubtnut.com/l/_BPc3vQ0XXkEc
https://dl.doubtnut.com/l/_YvodeN1sFuJA

[ & Watch Video Solution J

lllustrative Assignments

1. Why do covalent compounds exist as gases, liquids or

soft solids?

o Watch Video Solution

2. Give three examples each of solid, liquid and gaseous

covalent compounds.

o Watch Video Solution



https://dl.doubtnut.com/l/_YvodeN1sFuJA
https://dl.doubtnut.com/l/_XwUNypcXwuHB
https://dl.doubtnut.com/l/_WvrCPgid38G7

3. Covalent compounds have lower melting points and

lower boiling points than ionic compounds. Give reason.

° Watch Video Solution

4. Give three examples each of solid, liquid and gaseous

covalent compounds.

o Watch Video Solution

5. Covalent compounds generally do not conduct

electricity. Give reason.

° Watch Video Solution



https://dl.doubtnut.com/l/_2mDQJ4nQt2Mo
https://dl.doubtnut.com/l/_pXpWWadsAkiD
https://dl.doubtnut.com/l/_PH09QxIRANdC

6. Aqueous solutions of substances involving polar
covalent bonds such as HCl, NHy; and CH;COOH

conduct electricity. Give reason.

o Watch Video Solution

7. Name the charged particles which attract one another

to form electrovalent compounds.

° Watch Video Solution

8.In the formation of electrovalent compounds, electrons

are transferred from one element to another. How are


https://dl.doubtnut.com/l/_wJNhmn3Fk0DG
https://dl.doubtnut.com/l/_iXDwzEGSVFkj
https://dl.doubtnut.com/l/_nKr7wON4LkvP

electrons involved in the formation of a covalent

compound ?

o Watch Video Solution

9. The electronic configuration of nitrogen is 2,5. How
many electrons in the outer shell of a nitrogen atom are

not involved in the formation of a nitrogen molecule ?

o Watch Video Solution

10. In the formation of magnesium chloride (by direct
combination between magnesium and chlorine), name
the substance that is oxidised and the substance that is

reduced.


https://dl.doubtnut.com/l/_nKr7wON4LkvP
https://dl.doubtnut.com/l/_IevFsMyFhFOw
https://dl.doubtnut.com/l/_jGNzihdFKyjP

o Watch Video Solution

Question For Practice

1. Name the force which is responsible for the formation

of an electrovalent bond.

o Watch Video Solution

2.Name the type of chemical bond formed by a complete
transfer of electrons from the valence shell of one atom

to the valence shell of another atom.

o Watch Video Solution



https://dl.doubtnut.com/l/_jGNzihdFKyjP
https://dl.doubtnut.com/l/_d5AG07kHBzL7
https://dl.doubtnut.com/l/_r8jPACNELgva

3. Write the electron dot structures of NacCl .

o Watch Video Solution

4. Write the electron dot structures of MgCl,

o Watch Video Solution

5. Write the electron dot structure of CaO

o Watch Video Solution



https://dl.doubtnut.com/l/_obc9cPhlaDS5
https://dl.doubtnut.com/l/_td2aRxMOnl22
https://dl.doubtnut.com/l/_fd2Vd2FRyB8Y

6. The electronic configuration of an atom Ais 2, 8, 2 and
that of another atom B is 2, 8, 7. What is the formula of

the compound formed by the combination of A and B?

° Watch Video Solution

7. An element X burns in oxygen to form an electrovalent
compound XO. What is the formula of compounds
formed if this element is allowed to combine with

chlorine

o Watch Video Solution



https://dl.doubtnut.com/l/_SJOOwwzSpTmf
https://dl.doubtnut.com/l/_TABqcp6SBV7h

8. An element X burns in oxygen to form an electrovalent
compound XO. What is the formula of compounds
formed if this element is allowed to combine with

sulphur separately ?

o Watch Video Solution

9. In the formation of a compound AB, an atom of
element A lost two electrons while an atom of element B

gained two electrons. Predict two properties of AB.

o Watch Video Solution



https://dl.doubtnut.com/l/_qutMFJzmuPuV
https://dl.doubtnut.com/l/_yQTOo08tgoW6

10. Write the Lewis structures of a fluorine atom and a

fluorine molecule (the atomic number of F is 9).

° Watch Video Solution

11. Select the molecules with single bond, double bond

and triple bond in Hy, O5 ,and N,

o Watch Video Solution

12. If the electronic configuration of an element is 2, 4,
then it is most likely to form which bond, a covalent or

electrovalent bond?

I o WiakAh \iAdAaAaA CAliikiAan



https://dl.doubtnut.com/l/_hg9g1TjQIeSs
https://dl.doubtnut.com/l/_ijLPKx1Dqv9q
https://dl.doubtnut.com/l/_NCoO2I5c2Q2a
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13. Draw the electron dot structure of :

Nitrogen molecule (N=7]

° Watch Video Solution

14. If the electronic configuration of an element A is 2, 6,
then it is most likely to form which molecule, a diatomic

molecule (A;) or a triatomic molecule (A3)?

° Watch Video Solution



https://dl.doubtnut.com/l/_NCoO2I5c2Q2a
https://dl.doubtnut.com/l/_eXwXikKGxHQL
https://dl.doubtnut.com/l/_HGZp63hd8DAm

15. Write the number of covalent bonds in the molecular

formula of ethane.

° Watch Video Solution

16. What is the total number of covalent bonds in a

molecule of ammonia?

o Watch Video Solution

17. Draw the electron dot structure and orbit structure of

the following:

H,

[ o WiakAlh \iAdAaA CAliikiAan



https://dl.doubtnut.com/l/_K9TvFhV2pbe5
https://dl.doubtnut.com/l/_Pzd2774k6ex5
https://dl.doubtnut.com/l/_ivyYj7AdaifG
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18. Draw the electron dot structure and orbit structure of

the following:

Cl

o Watch Video Solution

19. Draw the electron dot structure of the following:

0,

° Watch Video Solution



https://dl.doubtnut.com/l/_ivyYj7AdaifG
https://dl.doubtnut.com/l/_VWuN21uMozpf
https://dl.doubtnut.com/l/_pM9y0sdNRsgV

20. Draw the electron dot structure of :

Nitrogen molecule (N=7]

° Watch Video Solution

21. Fill in the blank by using correct word/term given in
the bracket and rewrite the complete sentence in your
notebook.

Electrons are shared between two atoms in the

formationof  bond. (ionic/covalent).

o Watch Video Solution



https://dl.doubtnut.com/l/_lwSt00CUaKIK
https://dl.doubtnut.com/l/_rIC04OkAHHxH

22. Fill in the blank by using correct word/term given in
the bracket and rewrite the complete sentence in your
notebook.

Atoms combine to form chemical bonds and attain
electronic configuration like their nearest

(nonmetals/noble gases).

o Watch Video Solution

23. Fill in the blank by using correct word/term given in
the bracket and rewrite the complete sentence in your
notebook.

The number of electrons in the valence shell of carbon

atoms is (four/six)



https://dl.doubtnut.com/l/_20QxBuXOU2bC
https://dl.doubtnut.com/l/_140jGvRXajqX

o Watch Video Solution

24. Fill in the blank by using correct word/term given in
the bracket and rewrite the complete sentence in your
notebook.

The atoms combine to have electrons in their

valence shells is the octet rule. (eight/eighteen)

o Watch Video Solution

25. Fill in the blank by using correct word/term given in
the bracket and rewrite the complete sentence in your
notebook.

The theory explains chemical bonding in



https://dl.doubtnut.com/l/_140jGvRXajqX
https://dl.doubtnut.com/l/_fdZBXMiCrA9a
https://dl.doubtnut.com/l/_T3Jwpom5SCqo

terms of sharing of electrons between two atoms.

(electronic/electrostatic)

o Watch Video Solution

26. Fill in the blank by using correct word/term given in
the bracket and rewrite the complete sentence in your
notebook.

Generally ionic compounds exist in state.

(solid/liquid/gas)

o Watch Video Solution

27. Fill in the blank by using correct word/term given in

the bracket and rewrite the complete sentence in your


https://dl.doubtnut.com/l/_T3Jwpom5SCqo
https://dl.doubtnut.com/l/_98G5BTRVZRqi
https://dl.doubtnut.com/l/_9Fms5HK6zmSM

notebook.
Melting points and boiling points of covalent compounds

are generally (low/high)

o Watch Video Solution

28. Write the correct form of the following statement:

In a methane molecule, the number of C-H bonds is 6.

° Watch Video Solution

29. Write the correct form of the following statement:

The number of electrons in the valence shell of C atom is

& |


https://dl.doubtnut.com/l/_9Fms5HK6zmSM
https://dl.doubtnut.com/l/_wijK8NOwnNgK
https://dl.doubtnut.com/l/_F6HM4eKNiRzG

| ' Vvalch Video solution ]

30. Give suitable chemical term for the following:
A bond formed by a shared pair of electrons with both

electrons coming from the same atom.

o Watch Video Solution

31. Write the correct form of the following statement:
The fluorine atom is more electronegative than H atom,
therefore, the H-F bond is formed by gain and loss of

electrons.

o Watch Video Solution



https://dl.doubtnut.com/l/_F6HM4eKNiRzG
https://dl.doubtnut.com/l/_sKkQ3Au5PhTk
https://dl.doubtnut.com/l/_CnyPFzuVsT5n
https://dl.doubtnut.com/l/_pmI5X4nUgvfm

32. Mark the odd one out

o Watch Video Solution

33. Select the odd one out and justify your choice:

NaCl, HCI, KCl, MgCl,

o Watch Video Solution

34. Select the odd one out with justification :

NHg, HzO, CCLO, CH4

o Watch Video Solution



https://dl.doubtnut.com/l/_pmI5X4nUgvfm
https://dl.doubtnut.com/l/_ASLOR1O2OZX7
https://dl.doubtnut.com/l/_jXIgg3ErXVcs

35. Select the odd one out with justification :

HCI, CH,, NHs, H,O

° Watch Video Solution

36. What is a lone pair of electrons ?

o Watch Video Solution

37. How many and what types of bonds are present in

NH,?

o Watch Video Solution



https://dl.doubtnut.com/l/_omy6FsG0Hvdd
https://dl.doubtnut.com/l/_Py5NQiOUmUuA
https://dl.doubtnut.com/l/_69P9dMtQRmW5
https://dl.doubtnut.com/l/_nT3CUiqdedcm

38. Which one of H,O and HCI is capable of forming

coordinate bond?

o Watch Video Solution

39. Name the bond formed by a shared pair of electrons

with both the electrons coming from the same atom.

o Watch Video Solution

40. Draw the electron dot structure of ammonia molecule
and indicate (i) the shared pair of electrons and (ii) lone

pair of electrons

o Watch Video Solution



https://dl.doubtnut.com/l/_nT3CUiqdedcm
https://dl.doubtnut.com/l/_9rQJnYXmqqNY
https://dl.doubtnut.com/l/_NRNeUnhPAMSU

41. Write the name and formula of a species other than
NI—IL;L which involves simple covalent bonds and a

coordinate bond.

o Watch Video Solution

42. Describe the formation of hydronium ion in terms of

electron dot structures.

o Watch Video Solution

Question For Practice Fill In The Blanks By Selecting A

Correct Word Given In The Brackets



https://dl.doubtnut.com/l/_NRNeUnhPAMSU
https://dl.doubtnut.com/l/_zNtyqv3MfWzz
https://dl.doubtnut.com/l/_qGjLrYRpLvGm
https://dl.doubtnut.com/l/_eMsCBDTFaEog

1. In the formation of bond, the cations and

anions are held together by electrostatic force.

(electrovalent/covalent)

o Watch Video Solution

2. Give reasons for the following

Electrovalent compounds are soluble in water, insoluble
in organic solvents, good conductors of electricity in
molten or aq.solution state, have high meltimg points
and undergo electrolytic dissociation on pasaage of
electric current, while covalent compounds are soluble in
organic solvents, insoluble in water, non-conductors of
electricity, have low melting points & undergo ionisation

on passage of electric current.


https://dl.doubtnut.com/l/_eMsCBDTFaEog
https://dl.doubtnut.com/l/_ACdK8Ma5TLlM

o Watch Video Solution

3. In the formation of Na,O, each Na atom transfers

to O atom. (one electron/two electrons)

o Watch Video Solution

4. When magnesium is burnt in oxygen

compound is formed. (a covalent/an electrovalent)

o Watch Video Solution

5. The electrical conductivity of an ionic solid compound

is (high/low/nil)



https://dl.doubtnut.com/l/_ACdK8Ma5TLlM
https://dl.doubtnut.com/l/_lO3aF3lrAQgE
https://dl.doubtnut.com/l/_2NH1fjMvJhwx
https://dl.doubtnut.com/l/_gZwKwrB6u05b

o Watch Video Solution

6. On dissolving in _ electrovalent compounds

undergo dissociation. (water/benzene/chloroform)

o Watch Video Solution

7.1n CaO , the valency of each atom is

(one/two/three)

o Watch Video Solution

8. MgCl,, is compound. (an electrovalent/a

covalent)


https://dl.doubtnut.com/l/_gZwKwrB6u05b
https://dl.doubtnut.com/l/_WVY3sselRL0D
https://dl.doubtnut.com/l/_ZGuXm9YqlozR
https://dl.doubtnut.com/l/_U52JdKonSmoc

o Watch Video Solution

9. In the formation of KCl, an electron is completely

transferred from _ (K/Cl)

o Watch Video Solution

10. Generally ionic compounds exist in a

(solid/liquid/gas) state. Melting and boiling points of

covalent compounds are generally (b) (low/

high)

o Watch Video Solution



https://dl.doubtnut.com/l/_U52JdKonSmoc
https://dl.doubtnut.com/l/_MSaAP1U5n7z1
https://dl.doubtnut.com/l/_YSudG3m6ZDUm

Question For Practice On Examination Pattern

1. The force responsible to hold the atoms together in a

molecule is called

A. chemical kinetics

B. chemical bonding

C. chemical thermodynamics

D. chemical equilibrium

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_eCOqWq4QoUCT

2. Define electrovalent bond.

A. electron pair is shared between two atoms.

B. electron pair is contributed by one atom and

shared between two atoms.

C. electron is completely transferred from one atom

to another atom.

D. electron is transferred by electronegative atom to

electropositive atom.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_oVgNxGRbhpSj
https://dl.doubtnut.com/l/_rfdabXKCN4f2

3. Which one is not true about sodium chloride?

A. It does not conduct electricity in solid state.

B. It is highly soluble in benzene.

C. It has ionic nature.

D. In conducts electric current in molten state.

Answer: B

o Watch Video Solution

4. Which one is a covalent compound?
(a)HCl

(b)NacCl


https://dl.doubtnut.com/l/_rfdabXKCN4f2
https://dl.doubtnut.com/l/_Uj6RzYvGuPNg

(c)KCl

(d)MgCl,

A. HCI

B. NaCl

C. KCl

D. MgCl2

Answer: A

o Watch Video Solution

5. The number of covalent bonds in NHj is

Al


https://dl.doubtnut.com/l/_Uj6RzYvGuPNg
https://dl.doubtnut.com/l/_9maEdTz8ht3k

B.2

C.3

D.4

Answer: C

o Watch Video Solution

6. Which one is a polar covalent compound?

KCl; NaCl; CCl4;HCl;

A. KCl

B. NaCl

C.CCly


https://dl.doubtnut.com/l/_9maEdTz8ht3k
https://dl.doubtnut.com/l/_u1YvewXtZxxi

D. HCl

Answer: D

° Watch Video Solution

7. State true/false:

A bond formed by a shared pair of electrons with both

electrons coming from the same atom is a covalent bond.

A. electrovalent bond.

B. Coordinate bond

C. hydrogen bond.

D. Covalent bond


https://dl.doubtnut.com/l/_u1YvewXtZxxi
https://dl.doubtnut.com/l/_DVOfkw1J2oIM

Answer: B

o Watch Video Solution

8. In which one of the following are both the covalent
and coordinate bonds involved?

A. NH;

B. H,O

C.NH,

D.CyH,

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_DVOfkw1J2oIM
https://dl.doubtnut.com/l/_EhABbSHvuFIv

9. What is a lone pair of electrons ?

Al

B.2

C.3

D.4

Answer: A

o Watch Video Solution

10. State the meaning of - 'lone pair of electrons' . Draw

the electron dot diagram of - Hydronium ion.[H =1, O = 8]


https://dl.doubtnut.com/l/_EhABbSHvuFIv
https://dl.doubtnut.com/l/_HGZAGqedxYEG
https://dl.doubtnut.com/l/_qKuvSpVmUCtI

Al

B.2

C.3

D. nil

Answer: A

o Watch Video Solution

11. What is the term defined below?
A bond formed by a shared pair of electrons each

bonding atom contributing one electron to the pair.

A. coordinate bond.


https://dl.doubtnut.com/l/_qKuvSpVmUCtI
https://dl.doubtnut.com/l/_XYSgag0RNVjY

B. dative bond

C.single covalent bond.

D. ionic bond

Answer: C

o Watch Video Solution

12. The number of lone pair of electrons on each atom of

oxygen molecule is

Al

B.2

C.3


https://dl.doubtnut.com/l/_XYSgag0RNVjY
https://dl.doubtnut.com/l/_MUB2IIVIgmw4

D. nil

Answer: B

o Watch Video Solution

13. The valency of C atom in CCly is

Al

B.2

C.3

D.4

Answer: A

[ o Watch Video Solution


https://dl.doubtnut.com/l/_MUB2IIVIgmw4
https://dl.doubtnut.com/l/_bdl124h20Oms

14.The valency of Catom in CHy is

Al

B.2

C.3

D.4

Answer: D

o Watch Video Solution

15. Among the following the one which is composed of all

the three kinds of bond (ionic, covalent and coordinate


https://dl.doubtnut.com/l/_bdl124h20Oms
https://dl.doubtnut.com/l/_zgy2FUCKgPc5
https://dl.doubtnut.com/l/_siqlbkxQ8Hme

bond) is :

A. sodium chloride.

B.ammonia

C. carbon tetrachloride.

D. ammonium chloride

Answer: D

o Watch Video Solution

16. Choose the most appropriate answer from the
following options :

Among the following compounds identify the compound


https://dl.doubtnut.com/l/_siqlbkxQ8Hme
https://dl.doubtnut.com/l/_gcPwPgDe4d9y

that has all three bonds (ionic, covalent and coordinate

bond).

A. Ammonia

B. Ammonium chloride

C. Sodium hydroxide

D. Calcium chloride

Answer: B

o Watch Video Solution

17. Choose the most appropriate answer from the

following options :


https://dl.doubtnut.com/l/_gcPwPgDe4d9y
https://dl.doubtnut.com/l/_xrnzHl1czEkT

Which of the following is not a typical property of an

ionic compound?

A. Has high melting point

B. Conducts electricity in the molten state and in

aqueous solution

C.lIs insoluble in water

D. exists as oppositely charged ions even in solid state

Answer: C

o Watch Video Solution

18. Compound 'X' consists of only molecules. X' will have -

A: Crystalline hard stucture B: A low m.p. & low b.p. C: An


https://dl.doubtnut.com/l/_xrnzHl1czEkT
https://dl.doubtnut.com/l/_mZ4Clr6SD5D2

ionic bond D: A strong force of attraction between its

molecules.

A. A crystalline hard structure.

B. An ionic bond.

C. A low melting point and a low boiling point.

D. A strong force of attraction between its molecules.

Answer: C

o Watch Video Solution

19. Fill in the blanks with the correct word from the

brackets:


https://dl.doubtnut.com/l/_mZ4Clr6SD5D2
https://dl.doubtnut.com/l/_cMhYViozvF1d

The covalent molecule containing three single covalent

bonds is [water / methane / ammonial.

A. Ammonia

B. Methane

C. Nitrogen

D. Water

Answer: C

o Watch Video Solution

20. Coordinate bonding is involved in which of the
following molecule? Carbon tetrachloride Ammonium

chloride Hydrogen Hydrogen


https://dl.doubtnut.com/l/_cMhYViozvF1d
https://dl.doubtnut.com/l/_QsJUzs5irUop

A. Carbon tetrachloride

B. Ammonium chloride

C. Hydrogen

D. Hydrogen

Answer: B

o Watch Video Solution

21. What is the term defined below?
A bond formed by a shared pair of electrons each

bonding atom contributing one electron to the pair.

o Watch Video Solution



https://dl.doubtnut.com/l/_QsJUzs5irUop
https://dl.doubtnut.com/l/_fF0z7G84zyAu
https://dl.doubtnut.com/l/_84qRjt5gXwUY

22. What are the terms defined in given below?
A bond formed by a shared pair of electrons with both

electrons coming from the same atom.

o Watch Video Solution

23. What are the terms defined in below?
A bond formed by complete transfer of an electron from

an electropositive atom to an electronegative atom.

o Watch Video Solution

24. What is the term defined below?

A bond formed by a shared pair of electrons each


https://dl.doubtnut.com/l/_84qRjt5gXwUY
https://dl.doubtnut.com/l/_TDQuzUTpkquC
https://dl.doubtnut.com/l/_QnyWnQpi37sh

bonding atom contributing one electron to the pair.

o Watch Video Solution

25. What are the terms defined in below?
A bond in which the electron pair shifts towards the

more electronegative atom.

o Watch Video Solution

26. Answer question in one word or one sentence.
Name the linkage that results when two electrons are

completely transferred from magnesium to oxygen.

o Watch Video Solution



https://dl.doubtnut.com/l/_QnyWnQpi37sh
https://dl.doubtnut.com/l/_tqdY7BzfIElG
https://dl.doubtnut.com/l/_kWls2ewW73ke

27. Answer question in one word or one sentence.
In which one of NH3 and NH;r does the N atom carry a

lone pair of electrons?

o Watch Video Solution

28. Answer question in one word or one sentence.
What is the nature of covalent bond in HCl-polar or

nonpolar?

o Watch Video Solution



https://dl.doubtnut.com/l/_kWls2ewW73ke
https://dl.doubtnut.com/l/_jF47ElcMIVV1
https://dl.doubtnut.com/l/_dRD3XNaVNaHr

29. Answer question in one word or one sentence.
Which type of force is responsible for the high melting

point of NaCl?

o Watch Video Solution

30. Answer question in one word or one sentence.

What is the number of valence electrons on F atom?

° Watch Video Solution

31. Fill in the blank by selecting a correct word given in
the brackets.

Atoms combine to form chemical bonds and attain


https://dl.doubtnut.com/l/_ATFcUzwCJTqW
https://dl.doubtnut.com/l/_TNzRJ9O9bVfV
https://dl.doubtnut.com/l/_QIBkI1UXlQFG

electronic configuration like their nearest

(nonmetals/noble gases)

° Watch Video Solution

32. Fill in the blank by selecting a correct word given in
the brackets.
In the formation of bond, the cations and anions

are  held together by electrostatic force.

(electrovalent/covalent)

o Watch Video Solution

33. Fill in the blank by selecting a correct word given in

the brackets.


https://dl.doubtnut.com/l/_QIBkI1UXlQFG
https://dl.doubtnut.com/l/_hnCrsmOtClqZ
https://dl.doubtnut.com/l/_lQwmGjgSX3ld

In the formation of MgO, each Mg atom transfers

to the O atom. (one electron/two electrons)

° Watch Video Solution

34. In C'aO , the valency of each atom is

(one/two/three)

o Watch Video Solution

35. MgCl,, is compound. (an electrovalent/a

covalent)

° Watch Video Solution



https://dl.doubtnut.com/l/_lQwmGjgSX3ld
https://dl.doubtnut.com/l/_zk0eRGmX9TCD
https://dl.doubtnut.com/l/_mvpae02H3NaG
https://dl.doubtnut.com/l/_lQbzM35cna3I

36. In the formation of KCI, an electron is completely

transferred from _ (K/Cl)

o Watch Video Solution

37. Fill in the blank by using correct word/term given in
the bracket and rewrite the complete sentence in your
notebook.

Electrons are shared between two atoms in the

formationof  bond. (ionic/covalent).

° Watch Video Solution



https://dl.doubtnut.com/l/_lQbzM35cna3I
https://dl.doubtnut.com/l/_fgO0tf97mn3N

38. Fill in the blank by using correct word/term given in
the bracket and rewrite the complete sentence in your
notebook.

The number of electrons in the valence shell of carbon

atoms is (four/six)

o Watch Video Solution

39. Match an item of column A with a correct item of

column B.
Column A Column B
(1 Sodium chloride Increases
(1) Ammonium ion Covalent bond
(1) Electronegativity across the period lonic bond
{iv) Nonmetallic character down the group Covalent and coordinate bond
{r) Carbon tetrachloride Decreases

Answer as follow:

correct item from B matching sodium chloride.



https://dl.doubtnut.com/l/_XvoVeTZ5jgbW
https://dl.doubtnut.com/l/_pn5xJqZHeFC7

\ ° Watch Video Solution

40. Match an item of column A with a correct item of

column B.
Column A Column B
(1) Sodium chloride Increases
(1) Ammonium ion Covalent bond
(i) Electronegativity across the period lonic bond
(i) Nonmetallic character down the group Covalent and coordinate bond
() Carbon tetrachloride Decreases

Answer as follow:

correct item from B matching sodium chloride.

o Watch Video Solution

Fill In The Blanks



https://dl.doubtnut.com/l/_pn5xJqZHeFC7
https://dl.doubtnut.com/l/_BzW9Um9OB4s0

1. A compound conduct electricity in the fused state. The

compound is made up of.......

A. non-metals

B. ions

C. metals

D. alloys

Answer: B

o View Text Solution

2. The dupletor octet structure of valence shell makes


https://dl.doubtnut.com/l/_MlMVfOKdiMer
https://dl.doubtnut.com/l/_3X7RsHLyUrfC

A. atom, active

B. atom, inactive

C.ions, active

D. ions, inactive

Answer: B

o View Text Solution

3. The atomic number of oxygen is 8. The total number of

electrons in the 0%~ ion is......

A.10

B.8


https://dl.doubtnut.com/l/_3X7RsHLyUrfC
https://dl.doubtnut.com/l/_4qFQ4F7Cm5xE

C.6

D.9

Answer: A

° View Text Solution

4. Melting and boiling points of covalent compounds are

generally.........

A. same

B. high

C.low

D. Both (a) and (b)


https://dl.doubtnut.com/l/_4qFQ4F7Cm5xE
https://dl.doubtnut.com/l/_85gKcqgAYktX

Answer: C

o View Text Solution

5. Covalent bond is rigid and directional, it is responsible

for.........

A. rigidity of the molecule

B. definite shape of the molecule

C. fluidity of the molecule

D. None of the above

Answer: B

° View Text Solution



https://dl.doubtnut.com/l/_85gKcqgAYktX
https://dl.doubtnut.com/l/_6mPbMLUdRedI

6. Most covalent compounds have density that of water.

A.equal to

B. more than

C.less than

D. None of the above

Answer: C

o View Text Solution

7. The electronegativities of atoms giving covalent

molecules are generally..


https://dl.doubtnut.com/l/_6mPbMLUdRedI
https://dl.doubtnut.com/l/_O9bRFBNTMUb4
https://dl.doubtnut.com/l/_WRwVqrrB0mVd

A. equal

B. low

C. high

D. keeps changing

Answer: A

o View Text Solution

8. Atoms of the same element combine to form molecules

by means of .......... bonds.

A. ionic

B. covalent


https://dl.doubtnut.com/l/_WRwVqrrB0mVd
https://dl.doubtnut.com/l/_PedMFTc65bZ0

C. coordinate

D. electrovalent

Answer: B

° View Text Solution

9. A molecule of....... contains a triple bond.

A. sulphur

B. nitrogen

C. oxygen

D. carbon

Answer: B


https://dl.doubtnut.com/l/_PedMFTc65bZ0
https://dl.doubtnut.com/l/_Hj4o627o87A0

o View Text Solution

10. ..ooeeeee. are identical to a normal covalent compound.

A. Coordinate bond

B. metallic bond

C.ionic bond

D. None of the above

Answer: A

° View Text Solution

11. lonic compounds consist of ............... charged ions.


https://dl.doubtnut.com/l/_Hj4o627o87A0
https://dl.doubtnut.com/l/_NVSF8btKD6ZL
https://dl.doubtnut.com/l/_1XvlrZ2rBQ24

A. equally

B. oppositely

C. negatively

D. positively

Answer: B

° View Text Solution

12. lonic compounds have ... melting points due to

............. ionic bonds.

A. high, weak

B. low, strong


https://dl.doubtnut.com/l/_1XvlrZ2rBQ24
https://dl.doubtnut.com/l/_kFeQxe0ZviJl

C. high, strong

D. low, weak

Answer: C

o View Text Solution

13. The physical state of ionic compounds is

A.vapour state

B. molten state

C.solid state

D. None of the above

Answer: C


https://dl.doubtnut.com/l/_kFeQxe0ZviJl
https://dl.doubtnut.com/l/_1Pad0gNnze4v

o View Text Solution

14. In covalent compounds, the bond is formed due to

A. sharing of electrons

B. donation of electrons

C. high electronegativity of atoms

D. high electron affinity of atoms

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_1Pad0gNnze4v
https://dl.doubtnut.com/l/_AroD9TxNd7A2

15. A solution of a ... will contain both ions and

molecules of the solute.

A. covalent compound

B. strong electrolyte

C. weak electrolyte

D. None of the above

Answer: C

o View Text Solution

16. In the sodium chloride crystal, each Na™ ion is

surrounded by ............ CI~ ions and each CI™ ion by


https://dl.doubtnut.com/l/_wXdy4gK9SDtd
https://dl.doubtnut.com/l/_zcw7sTmDkR82

................ Na™ ions.

A. five, five

B. three, three

C. six, six

D. six,five

Answer: C

o View Text Solution

17. Areducing agent is a substance which can.............

A. Accept electron

B. Donate electrons


https://dl.doubtnut.com/l/_zcw7sTmDkR82
https://dl.doubtnut.com/l/_ZbMpBOvlXdTq

C. Accept protons

D. Donate protons

Answer: B

o View Text Solution

18. Molecular reactions are generally slow reactions and

they are shown by .......... Compounds.

A. Both ionic and covalent

B. Coordinate

C. lonic

D. Covalent


https://dl.doubtnut.com/l/_ZbMpBOvlXdTq
https://dl.doubtnut.com/l/_OwWz3StGrWVK

Answer: D

o View Text Solution

19. In NHL;r all the four bonds are

A. covalent
B. not identical
C. identical

D. coordinate

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_OwWz3StGrWVK
https://dl.doubtnut.com/l/_nM5ZT8RufVhO
https://dl.doubtnut.com/l/_1aIHdqU0Hedy

20. The water molecules easily break the bonds between
the oppositely charged ions. The ions drift in water in all
possible directions and hence electrovalent compounds
............. in water.

A. covalent, dissolve

B. covalent, do not dissolve

C.ionic, dissolve

D. ionic, do not dissolve

Answer: C

o View Text Solution

Multiple Choice Questions



https://dl.doubtnut.com/l/_1aIHdqU0Hedy

1. Among the following compounds identify the

compound that has all three bonds (ionic, covalent and

coordinate bond).

A. Ammonia

B. Ammonium chloride

C. Sodium hydroxide

D. Calcium chloride

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_8VY8SFwOM3kU

2. Due to the presence of strong electrostatic forces of

attraction between ions, ionic compounds.

A. Have high melting and boiling points

B. Conduct electricity in solid state

C. Dissolve in kerosene

D. All of the above

Answer: A

° View Text Solution

3.lonic bond is present in which of the following species:


https://dl.doubtnut.com/l/_7SUw1Rq0Aaf7
https://dl.doubtnut.com/l/_iIPSL88xUfFh

A. O,

B.CHCI;

C. NaBr

D.CCl,

Answer: A

o View Text Solution

4. The type of bonding in HCl molecule is:

A. Polar covalent bond

B. Pure covalent

C. Non-polar


https://dl.doubtnut.com/l/_iIPSL88xUfFh
https://dl.doubtnut.com/l/_EkbuKch3WilT

D. Hydrogen bonding

Answer: A

o View Text Solution

5. Formation of a compound through ionic bond the

ionization energy of the metal ion.

A. does not depends on

B. depend on

C.is independent regarding

D. may or may not depend on

Answer: B


https://dl.doubtnut.com/l/_EkbuKch3WilT
https://dl.doubtnut.com/l/_HGfZegknkIQ7

o View Text Solution

6. The molecule containing a triple covalent bond is:

A. Ammonia

B. Methane

C. Water

D. Nitrogen

Answer: D

° View Text Solution

7.Why do atoms share electrons in covalent bonds?


https://dl.doubtnut.com/l/_HGfZegknkIQ7
https://dl.doubtnut.com/l/_woc4zUuUdGVq
https://dl.doubtnut.com/l/_C6s2hl4UJpDO

A. to increase their atomic numbers

B. to attain a noble-gas electron configuration

C. to become more polar

D. to become ions and attract each other

Answer: B

o View Text Solution

8. Covalent bond is formed between

A. Metal and non-metal

B. Metals

C. Two non-metals


https://dl.doubtnut.com/l/_C6s2hl4UJpDO
https://dl.doubtnut.com/l/_ogsHcsVWbaXm

D. Non-metal and an ion

Answer: C

o View Text Solution

9. Valency of aluminium is:

A2

B.3

C.4

D.5

Answer: B

[ o View Text Solution


https://dl.doubtnut.com/l/_ogsHcsVWbaXm
https://dl.doubtnut.com/l/_OtptT4gViiim

10. Identify the molecule with a single covalent bond.

A.CO,

B.CO

c.Cl,

D. N,

Answer: C

o View Text Solution

11. A polar covalent bond will be formed in which one of

these pair of atoms:


https://dl.doubtnut.com/l/_OtptT4gViiim
https://dl.doubtnut.com/l/_nC5G6evxzAU4
https://dl.doubtnut.com/l/_sT2Q1odHleQn

A. HF

B. H,

C.Cl,

D. O,

Answer: A

° View Text Solution

12. Aluminum has a tendency to lose:

A. 2 electron

B. 1 electron

C. 4 electron


https://dl.doubtnut.com/l/_sT2Q1odHleQn
https://dl.doubtnut.com/l/_b02hQmKOLVWJ

D. 3 electron

Answer: D

o View Text Solution

13. Which of the following is a common characteristic of a

covalent compound?

A. high melting point

B. consists of molecules

C. always soluble in water

D. conducts electricity when it is in the molten state

Answer: B


https://dl.doubtnut.com/l/_b02hQmKOLVWJ
https://dl.doubtnut.com/l/_1yPu9kYLSBDI

o View Text Solution

14. Which element forms two different stable chlorides?

A. Calcium

B. Sulphur

C. Phosphorus

D. Oxygen

Answer: C

° View Text Solution

15. Elements which gains electrons is known as:


https://dl.doubtnut.com/l/_1yPu9kYLSBDI
https://dl.doubtnut.com/l/_iltATA30tt95
https://dl.doubtnut.com/l/_ziNnbOkpGgz1

A. Electropositive elements

B. Electronegative elements

C. Covalent atom

D. Anion

Answer: D

o View Text Solution

16. A gas having double bonds is:

A. Carbon monoxide

B. Oxygen

C. Carbon dioxide


https://dl.doubtnut.com/l/_ziNnbOkpGgz1
https://dl.doubtnut.com/l/_nCsHeRAzD4cf

D. None of the above

Answer: B

o View Text Solution

17. The ion formed by gain of electrons is known as:

A. Cation

B. Super ion

C.Both (a) and (b)

D. Anion

Answer: D

[ o View Text Solution


https://dl.doubtnut.com/l/_nCsHeRAzD4cf
https://dl.doubtnut.com/l/_uf1LJyuyPmJP

18. Lead chloride is:

A. Covalent compound

B. Covalent and co-ordinate bonded compound
C. lonic compound

D. None of the above

Answer: C

o View Text Solution

19. A gas which contains triple bond:


https://dl.doubtnut.com/l/_uf1LJyuyPmJP
https://dl.doubtnut.com/l/_cLC9lu4T7j3m
https://dl.doubtnut.com/l/_ejDejwbwLeuK

A. Oxygen

B. Hydrogen

C. Nitrogen

D. Argon

Answer: C

o View Text Solution

20. Which of the following will show covalent bonding?

A. Nacl

B. KCl


https://dl.doubtnut.com/l/_ejDejwbwLeuK
https://dl.doubtnut.com/l/_lfG0AIEagdJi

D. Cl,

Answer: D

o View Text Solution

21. A compound with low boiling point, is :

A. Sodium chloride

B. Calcium chloride

C. Potassium chloride

D. Carbon tetrachloride

Answer: D

[ o View Text Solution


https://dl.doubtnut.com/l/_lfG0AIEagdJi
https://dl.doubtnut.com/l/_r2n479AGAXO7

22. The capacity of an atom to attract the shared pair of

electrons towards itself is called:

A. Electronegativity

B. Electron affinity

C. Sharing of electrons

D. Electron donation

Answer: A

o View Text Solution

23. Sodium and sodium ions:


https://dl.doubtnut.com/l/_r2n479AGAXO7
https://dl.doubtnut.com/l/_g3j4GIWcK3uu
https://dl.doubtnut.com/l/_lhJRO0W3thpu

A. Are chemically same

B. Have same number of electrons

C. Have same number of protons

D. None of the above

Answer: C

o View Text Solution

24.The most ionic compound of periodic table is :

A. Sodium chloride

B. Potassium chloride

C. Magnesium chloride


https://dl.doubtnut.com/l/_lhJRO0W3thpu
https://dl.doubtnut.com/l/_iWgXVbENryPs

D. Caesium chloride

Answer: D

o View Text Solution

25. A compound having one lone pair of electrons:

A. Water

B. Methane

C. Ammonia

D. Hydrogen sulphide

Answer: C

[ o View Text Solution


https://dl.doubtnut.com/l/_iWgXVbENryPs
https://dl.doubtnut.com/l/_DfRx7YWcC6Dl

26. Molecular reactions which are generally slow

reactions are shown by :

A. Covalent compounds

B. lonic compounds

C. Coordinate compounds

D. Both ionic and covalent compounds

Answer: A

o View Text Solution

27. Which of the following doesn't represent oxidation?


https://dl.doubtnut.com/l/_DfRx7YWcC6Dl
https://dl.doubtnut.com/l/_pdIbCsO8093N
https://dl.doubtnut.com/l/_MpIQXecUp38l

A. Loss of electrons

B. Addition of oxygen

C. Increase in oxidation number

D. Addition of hydrogen

Answer: D

o View Text Solution

28. Which of the following is not a typical property of an

ionic compound?

A. High melting point


https://dl.doubtnut.com/l/_MpIQXecUp38l
https://dl.doubtnut.com/l/_W6CoM1yQL1UJ

B. Conducts electricity in the molten and in the

aqueous solution state.

C. They are insoluble in water.

D. They exist as oppositely charged ions even in the

solid state.

Answer: C

o View Text Solution

29. Bonding in this molecule can be understood to

involve coordinate bonding:

A. Carbon tetrachloride


https://dl.doubtnut.com/l/_W6CoM1yQL1UJ
https://dl.doubtnut.com/l/_cCFc8Y8In9CQ

B. Hydrogen

C. Hydrogen chloride

D. Ammonium chloride

Answer: D

o View Text Solution

30. Which of the following is a common characteristic of

a covalent compound?

A. High melting point

B. Consists of molecules

C. Always soluble in water


https://dl.doubtnut.com/l/_cCFc8Y8In9CQ
https://dl.doubtnut.com/l/_L3g0wRaYCyme

D. Conducts electricity when it is in the molten state

Answer: D

o View Text Solution

31. Write Lewis dot symbols for atoms of the following
elements: Mg and Na.

A. Mg, Na

B. Mg, Na

C. Mg, Na

D. Mg, Na

Answer: B


https://dl.doubtnut.com/l/_L3g0wRaYCyme
https://dl.doubtnut.com/l/_PRoaS833ho68

o View Text Solution

32. The octet rule is observed in:

A. C(I,Clz

B.CO,

C. BCl,

D. SN,

Answer: B

° View Text Solution

33. Hydrogen chloride molecule contains:


https://dl.doubtnut.com/l/_PRoaS833ho68
https://dl.doubtnut.com/l/_El6UOtefkPXY
https://dl.doubtnut.com/l/_fUBKou09tfb8

A. Polar covalent bond

B. Double bond

C. Coordinate bond

D. Electrovalent bond

Answer: A

o View Text Solution

34. Which of the following elements forms mostly
covalent compounds as related to other elements which

form ionic compounds?

A. Co


https://dl.doubtnut.com/l/_fUBKou09tfb8
https://dl.doubtnut.com/l/_P7nEVV0vytAt

B.B

C.Be

D.Rb

Answer: B

o View Text Solution

35. Sodium has one electron in its outer shell and
chlorine has 7 electrons in its outer shell. The atoms will

forma _ bond by their electrons.

A. covalent, sharing

B. covalent, transferring


https://dl.doubtnut.com/l/_P7nEVV0vytAt
https://dl.doubtnut.com/l/_BXerCCLmEmvS

C. ionic, transferring

D. ionic, sharing

Answer: C

o View Text Solution

36. The number of electrons lost or gained by an atom

refers to:

A. Electrovalency

B. Covalency

C. Donation

D. Acceptance


https://dl.doubtnut.com/l/_BXerCCLmEmvS
https://dl.doubtnut.com/l/_2BCWNYpQkA1c

Answer: A

o View Text Solution

37.Both ionic and covalent bonds are present in:

A. NaOH

B. SO,

C.CH,

D. KClI

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_2BCWNYpQkA1c
https://dl.doubtnut.com/l/_lcF9063zVE7W
https://dl.doubtnut.com/l/_erDSTyiCDoxo

38. Which solution of the following compounds will not

conduct electricity?

A. NaCl

B.CCly

D. C’aCl2

Answer: B

o View Text Solution

Reason Based Questions


https://dl.doubtnut.com/l/_erDSTyiCDoxo

1. All atoms other than noble gas atoms are reactive

because:

A. They have tendency to complete octet

B. They have tendency to combine with other atoms

C.Both (a) and (b)

D. None of the above

Answer: C

o View Text Solution

2. Hydrogen ion called proton due to:


https://dl.doubtnut.com/l/_W2ZTwzDAveuz
https://dl.doubtnut.com/l/_X2i8Dyp1XCpX

A. Hydrogen ion is only composed of one proton

B. Hydrogen ion is only reacting with one Chloride ion

C.Hydrogen ion is present in 'S' group of Periodic

table

D. Hydrogen ion is highly unstable

Answer: A

o View Text Solution

3. An anion carries negative charge because:

A. Anion has more protons than electrons

B. Anion has more electrons than protons


https://dl.doubtnut.com/l/_X2i8Dyp1XCpX
https://dl.doubtnut.com/l/_A4hHajKW5h1v

C. Anion has more neutron than electrons

D. Anion has positive charge and has instability

Answer: B

o View Text Solution

4. Electrovalent compounds have high melting & boiling

points due to the reason of:

A. Electrovalent compounds show strong attraction

to other ions in their vicinity

B. Electrovalent compounds show weak attraction to

other ions in their vicinity


https://dl.doubtnut.com/l/_A4hHajKW5h1v
https://dl.doubtnut.com/l/_bhrHjDiLC6Or

C. Electrovalent compounds show high volatility

D. None of the above

Answer: A

o View Text Solution

5. Electrovalent compounds usually dissolve in water

because:

A.The forces of attraction between positive and

negative charges become strong in water

B.The forces of attraction between positive and

negative charges become stable in water


https://dl.doubtnut.com/l/_bhrHjDiLC6Or
https://dl.doubtnut.com/l/_nRWC4iW9xSKx

C.The forces of attraction between positive and

negative charges become weak in water

D. Water has non polar properties which help to

electrovalent compounds easily dissolve in it

Answer: C

o View Text Solution

6. Covalent compounds exist as gases, liquids or soft

solids because they are formed by:

A. Weak forces of attraction between their molecules


https://dl.doubtnut.com/l/_nRWC4iW9xSKx
https://dl.doubtnut.com/l/_xcsodYFdvlUp

B.Sharing of electrons between the atoms have

different electronegativity's

C.Sharing of electrons between the atoms without

electronegativity's

D. None of these

Answer: B

o View Text Solution

7. Methane molecule regarded as a non-polar covalent

compound because:


https://dl.doubtnut.com/l/_xcsodYFdvlUp
https://dl.doubtnut.com/l/_lG5goWGRv2zE

A. Methane has four carbon-hydrogen single ionic

bonds

B. Methane has four carbon-hydrogen single covalent

bonds

C. Shared pair lies between the atoms at an unequal

distance from both carbon and hydrogen atom

D. None of the above

Answer: B

o View Text Solution

Figure Based Questions


https://dl.doubtnut.com/l/_lG5goWGRv2zE
https://dl.doubtnut.com/l/_k8BuwhDy07oN

1. This bonding occurs  primarily

HGOT,
| e
Bond pair

3 lone pairs

\7

A. non-metals

B. metals

C.Both (a) and (b)

D. gases

Answer: C

between:

o View Text Solution



https://dl.doubtnut.com/l/_k8BuwhDy07oN

2.In the given figure how many pairs of bond contains in
the Hydrogen molecule Electron dot structures of Non-

polar covalent compound ?

He xH — H%H

7

2¢” per bond

A. Four
B. Five
C.Six

D. One

Answer: D

o View Text Solution



https://dl.doubtnut.com/l/_8xloG3MTg2fP

3. How many pairs of bond and lone pair contains in the

given Chlorine Molecule figure?

-_—

[ X ] [N [ X L N
SCle + «Cl1t —— JCls Clg

L N L X ] . [ X |
Chlorine atoms Chlorine molecule

A. Contains four bond pair and six lone pair

B. Contains one bond pair and six lone pair

C. Contains two bond pair and six lone pair

D. Contains six bond pair and six lone pair

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_8xloG3MTg2fP
https://dl.doubtnut.com/l/_gv9DIsXCPj9e
https://dl.doubtnut.com/l/_iu4G6N1LoKaN

4. How many pairs of bond and lone pair contains in the

given Methane figure?

I H
) H |
H C.-H-HC'H- C —H
H H H
Methane

A. 4 bond pair and zero lone pair

B. 8 bond pair and zero lone pair

C. 6 bond pair and zero lone pair

D. 4 bond pair and 4 lone pair

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_iu4G6N1LoKaN

5. Given below ion formed by the combination of:

/-:' \\N.- e e
H— Cl§ + H= 0}—3Cls + H—-0O—H
LY ] | . |

I1 H

A. H,O molecule and H ™ ion
B. CloO molecule and CHO ™ ion
C. HC150 molecule and H " ion

D. Cls molecule and H ™ ion

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_7yZwT8jetAuW

6. Name the given molecule for the following structure:

H H
= C—(C
~L=C

H ~H

A. CyHg molecule
B. C5H, molecule

C. CyHs molecule

D. CH, molecule

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_JUOu9Pnw0Nex
https://dl.doubtnut.com/l/_V8w0S62LfQEo

7. Name the given structure of the Molecule:

E Dc@cHD

Se~ Be™

A. CoHg molecule
B. Uy H4 molecule
C. CyHs molecule

D. C3H4 molecule

Answer: C

o View Text Solution



https://dl.doubtnut.com/l/_V8w0S62LfQEo

8. Which of the following molecule/lon is correctly match

with Lewis Representation?

A wE :
.

NF; FeNSFs F—N-—F
B Fs HH

D. All are correctly matched

Answer: D

o View Text Solution

9. Lewis dot structure of CO moleculeis :


https://dl.doubtnut.com/l/_8NsbIiDG1Hyn
https://dl.doubtnut.com/l/_Lj6FFLv7Q5qg

C.Both (a) and (b)

D. None of these

Answer: C

o View Text Solution

10. Which of the following electron dot structure is/are

correct?

. .
Na + *Cl3 — Na*[$CIS]" Or Na‘Cl
o o

A 2,81 2,87 2,8 2,88
.

.
B Mgr2e8lt Mg 203881 Or MgCh
.


https://dl.doubtnut.com/l/_Lj6FFLv7Q5qg
https://dl.doubtnut.com/l/_FFtcW7AJlKnb

G+ G — ca (0I5 or o
C. 288228 2ss 28
.

D. All are correctly matched

Answer: D

° View Text Solution

Assertion And Reason Based Questions

1. Assertion: Atoms can combine either by transfer of
valence of electrons from one atom to another or by
sharing of valence electrons.

Reason: Sharing and transfer of valence electrons is done

by atoms to have an octet in their valence shell.


https://dl.doubtnut.com/l/_FFtcW7AJlKnb
https://dl.doubtnut.com/l/_N38RXK4c3OOW

A. Assertion and Reason both are correct statements

and reason is the correct explanation of the

assertion.

B. Assertion and Reason both are correct statements,

but reason is not the correct explanation of the

assertion.

C. Assertion is true, but reason is false.

D. Assertion is false, but reason is true.

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_N38RXK4c3OOW

2. Assertion: Sodium chloride formed by the action of

chlorine gas on sodium metal is a stable compound.

Reason: This is because sodium and chloride ions acquire

octet in sodium chloride formation.

A. Assertion and Reason both are correct statements

and reason is the correct explanation of the

assertion.

B. Assertion and Reason both are correct statements,

but reason is not the correct explanation of the

assertion.

C. Assertion is true, but reason is false.

D. Assertion is false, but reason is true.


https://dl.doubtnut.com/l/_bPjgWOkGO6t8

Answer: A

o View Text Solution

3. Assertion: Among the two O-H bonds in H,O molecule,
the energy required to break the first 0O-H bond and the
other O-H bond is the same.

Reason: This is because the electronic environment
around oxygen is the different even after breakage of

one O-H bond.

A. Assertion and Reason both are correct statements

and reason is the correct explanation of the

assertion.


https://dl.doubtnut.com/l/_bPjgWOkGO6t8
https://dl.doubtnut.com/l/_RFjzwI5E9667

B. Assertion and Reason both are correct statements,

but reason is not the correct explanation of the

assertion.

C. Assertion is true, but reason is false.

D. Assertion is false, but reason is true.

Answer: A

o View Text Solution

4, Assertion: Water is one of the best solvent.

Reason: H-bonding is present in water molecules.


https://dl.doubtnut.com/l/_RFjzwI5E9667
https://dl.doubtnut.com/l/_RS4FIXTmvQum

A. Assertion and Reason both are correct statements

and reason is the correct explanation of the

assertion.

B. Assertion and Reason both are correct statements,

but reason is not the correct explanation of the

assertion.

C. Assertion is true, but reason is false.

D. Assertion is false, but reason is true.

Answer: B

o View Text Solution



https://dl.doubtnut.com/l/_RS4FIXTmvQum

5. Assertion: Alkanes are insoluble in water.

Reason: Organic compounds do not form hydrogen

bonding with water.

A. Assertion and Reason both are correct statements

and reason is the correct explanation of the

assertion.

B. Assertion and Reason both are correct statements,

but reason is not the correct explanation of the

assertion.

C. Assertion is true, but reason is false.

D. Assertion is false, but reason is true.


https://dl.doubtnut.com/l/_uDfeqZ4J8ZJG

Answer: A

o View Text Solution



https://dl.doubtnut.com/l/_uDfeqZ4J8ZJG

